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20.000 0.95 19.0
NO.22 1.9
20.000 2.15 43.0
NO.23 2.4
20.000 2.40 48.0
NO.24 2.4
20.000 1.20 24.0
NO. 25 0.0
20.000 0.00 0.0
NO.26 0.0
0 26193 9.324 5 2.05 19.1
24 10.676 7.25 77.4
NO.27 10.4
20.000  12.35 247.0
NO.28 14.3
20.000 7.15 143.0
NO.29 0.0 0ooo o 165 V31
OO E 7 000 676.2 HEEU e 165 910.6




(mus) 2

Pt



oooooouooboon

o000 o000 1] 000 O 000 00 o0o0O ogooo
O 00O O 1.0
O 0 O O 1.0
O00000As(13) 2
O t=4cm b 916
O00D0000DOAs(13) 2
U t=4cm O 268
ooooodm-30) 2
O 0O O £=10cn O 1,200
0 O D00D000O(RC-40) 2
O 0O O t=12cnm O 1,220
O O Oo0OoooOOoog O 1.0
O00000As(13) 2
U t=4cm O 44
0 0 O D00D000O(RC-40) 02 44

t=10cm




ooooogod

goood

uoobooooboobooaan

HEN

uono

goood

0 O O O BP(NO.0+3.00) 0 EP(NO. 7+6.30) 0 L=143.30m

w=
w=
w=
w=
W=

00O OBP(NO.0+7.14)0 N0.2+19.270 L=52.13m

w=
W=

3.54 m L= 113.54 m
3.50004.00 m L= 10.00 m
4.00 m L= 10.02 m
4.0004.50 m L= 6.47 m
4.75 m L= 3.27 m

3.50 m L= 42.87 m
3.75 m L= 9.26 m

0 O O BP+4.750 BP+72.4901 L=67_74m

w=
W=
W

3.98 m L= 49.70
3.98014.00 m L= 6.12
4.25004.47 m L 11.92

3 3 3




ooooogod

ninfnfnln 0o0oO000O0O0oooon OO0 000
OO0 0 (000000000 (13) t=4cm)
OOA | wl w2 W L A
- - 5.50  0.00 0.000
- - 6.00 0.00 0.000
- - 5.75  0.00 0.000
OO0B | wl w2 W L A
- - 3.75  0.00 0.000
ooc [ wl w2 W L A
- - 3.54 113.54 | 401.932
3.50 4.00 3.75 10.00 37.500
- - 4.00 10.02 40.080
4.00 4.50 4.25  6.47 27.498
- - 4.75  3.27 15.533
OOD [ wl w2 W L A
- - 3.50  0.00 0.000
- - 3.75  0.00 0.000
O0E [ wl w2 W L A
- - 3.50 42.87 | 150.045
- - 3.75  9.26 34.725
OOF [ wl w2 W L A
- - 3.75  0.00 0.000
60 00 [1/2 x (13.784 + 13.184) x 5.00] 67.420
O W=(wl+tw2)x 1/2
O A=Wx L
0ooooQ
Al = =
A2 = =
CAL = = 20.290
CA2 = = 35.540
DAL = =
EAL = = 22.020
SAL = = 41.670
SA2 = = 22.150
D00o0000o0oooooon
al = =
3_2 = =
00 916.402 0% 916.4
OO0 0 (00000000000 (3) t=4cm)
o0 | wl w2 W L A
- - 3.98 49.70 | 197.806
3.98 4.00 3.99  6.12 24.419
3.75 3.97 3.86 11.92 46.011
00 268.236 0%  268.2




ooooogod

goood gooboooooboobooaan o goo
goood @ oooog-30) t=10cm)
OOA | wl w2 W L A
- - 5.50 0.00 0.000
- - 6.05 0.00 0.000
- - 5.80 0.00 0.000
ooB | wl w2 W L A
- - 3.80 0.00 0.000
uoc | wl w2 W L A
- - 3.60 113.54 408.744
3.60 4.10 3.85 10.00 38.500
- - 4.10 10.02 41.082
4.10 4.60 4.35 6.47 28.145
- - 4.80 3.27 15.696
oob | wl w2 W L A
- - 3.60 0.00 0.000
- - 3.80 0.00 0.000
UUOE [ wl w2 W L A
- - 3.60 42.87 154.332
- - 3.80 9.26 35.188
UOF | wl w2 W L A
- - 3.80 0.00 0.000
o wl w2 W L A
- - 3.98  #REF! #REF!
3.98 4.00 3.99  #REF! #REF!
3.80 4.02 3.91  #REF! #REF!
60 00 |1/2 x (13.784 + 13.184) x 5.00] 67.420
O W=(wl+w2)x 1/2
O A=Wx L
goooggg
Al = =
A2 = =
CA1 = = 20.790
CA2 = = 35.700
DAl = =
EA1 = = 21.860
SA1 = = 41.900
SA2 = 22.040
Uoooogogoooggon
al = =
a2 = =
HEN #REF! 0?2 #REF!




ooooogod

goood uoobooooboobooan o goo
goood (O O 0O0000000(RC-40) t=12cm)
OOA | wl w2 W L A
- - 5.50 0.00 0.000
- - 6.10 0.00 0.000
- - 5.85 0.00 0.000
ooB | wl w2 W L A
- - 3.85 0.00 0.000
uoc | wl w2 W L A
- - 3.70 113.54 | 420.098
3.70 4.20 3.95 10.00 39.500
- - 4.20 10.02 42.084
4.20 4.70 4.45 6.47 28.792
- - 4.85 3.27 15.860
oob | wl w2 W L A
- - 3.70 0.00 0.000
- - 3.85 0.00 0.000
UUOE [ wl w2 W L A
- - 3.70 42.87 158.619
- - 3.85 9.26 35.651
UOF | wl w2 W L A
- - 3.85 0.00 0.000
o wl w2 W L A
- - 3.98  #REF! #REF!
3.98 4.00 3.99  #REF! #REF!
3.85 4.07 3.96  #REF! #REF!
60 00 |1/2 x (13.784 + 13.184) x 5.00] 67.420
O W=(wl+w2)x 1/2
O A=Wx L
goooggg
Al = =
A2 = =
CAl = = 21.280
CA2 = = 35.850
DAl = =
EA1 = = 21.700
SAl = = 42.120
SA2 = 21.910
Uoooogogoooggon
al = =
a2 = =
HEN #REF! 0?2 #REF!
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goboboooooon

goco CAl1 CA2
o

J\J. - /7

CA1 (A5)=20. 20n2 2
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@

CAl1 CA2
gooo

J\J. - /7
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AN SO RNNERRNNNN | 34 1
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ggoo

J\J. - /7
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Jooooodod

goooogg
goood ugoboboooobooa o uono
gooo
goood

000 0OBP(NO.0+0.0)0 NO.6+16.14m0 L=163.09m
oo w= 0.3 L= 138.37m
oo w= 0.3 L= 138.15m

U0 0O DONO0.0+16.4000 NO.2+14.710 L=38.41m
o0 w= 0.3 L= 38.81m
oo w= 0.3 L= 38.82m

000 (O0O0O0As(13) t=4cm)
p2=  0.25 x  138.37 = 34.593
M= 0.25 x  38.81 = 9.703

S = 44.295 0% 44.3

0 O O (O000000000(RC-40) t=10cm)
p2=  0.25 x  138.15 = 34.538
M= 0.25 x  38.82 = 9.705

S= 44.243 0% 44.2




4. 8 T BE T




§ 1.l 9| £ BE T B &

LTS

Al Al ik - ~Hik Hifr 515 5-2%5 6-1% 6-2% 75 A 5 =
AfigRHEE T
BEIM (27U —h/33L) | t=140mm m 566 768 515 685 166 2,700
HHEAA (ARY > ) 4.0t X80 m 115 6,338 1,756 4,385 1,122 13,716 |SS400 HfgHA>FAFf
HHEA (ARY > ) 4.0t X 60 m 9,072 1,868 6,247 2,030 80 19,297 |SM490A HigH A
EVIZNRIN M12X40 ES 2,912 2,274 2,742 2,064 452 10,444 3RSy 8.8,8.0
K- HikA 20t X 85 X 600 # 492 663 461 584 131 2,331 |[AVr 7 L—h
YN 4X300XL m 750 1,010 670 900 210 3,540
H #1712 v A MR 40 % 250 X 600 bi's 12 33 - 33 17 95
Ay L—h 6.0X 115X 500 bi's 41 - 40 - - 81
Ui e H PL-250X250%3.2 L=1.20m | A 9 4 9 - - 22
Ui e H PL-250 X 250X 3.2 L=0.60m | #A 2 - 2 - - 4
T —RIL M12x90 b 22 8 22 - - 52
DAL ' m 332 154 302 396 82 1,566
JRSTRA A T CHit
T K ' m - 140 67 | 129 - 336
a7y —h 24-8-25BB m’ - 103 57 | 91 - 254
A R ' m’ - 205 m 190 - 506
F bt t=20mm m’ - n 6 10 - 27
HLazzy—h 18-8-25BB m’ - 15 8 n - 37
BjLar 7)) — MRl ' m’ - n 7] 13 - 34
R 'RC-10 m’ - 106 53 | 98 - 257
Fev AT 11— )L 50 X500 % 1000 te - 41 67 | 129 - 337
DU sY—ber UFIT A 10X300X 1000 | - 41 67 | 129 - 337
# DI3 SD345 kg ' - 7,149 3,607 | 6,570 | - 17,326
e ) —h T W=300mm
(A% =0) oY —h 24-8-25BB m’ 33 | 26 15 21 11 109
A R ' m’ 151 173 98 161 73 659
F bt t=20mm m’ 7] 6 3 5| 3 24 | =FAHA
T ey ' ' ' '
# DI3 SD345 kg 1472 | 1,801 | 1,039 1,661 705 6,681
HWET
TR m 81 140 67 | 129 53 470
a7y —h 18-8-25BB m’ n 22 n 17 5 66
Al R ' m’ 38 82 31 7 25 250
ZELER D13 SD295 kg 80 156 74 | 135 52 497
LR 'RC-10 m’ - ' 91 - ' 74 | 32 200 |t=20cm
R KT
PeRE LA “TM-200 m - 150 - 150 55 355
P& (L) '¢200 m | - 50 - 15 15 110
ORI 5-40(38) m’ ' - 36 - 36 13 85
BT 1 - 7 - 7 2 16 | ML
TFHEF TM~200 il - 7 - 7 2 16
RF vy TM-200 1 - 4 - 4 2 10
7 AV H—E M-30 m’ 280 379 255 337 81 1,332 Vhigitea
Pk Mg M-=30 m’ 243 532 192 350 134 1,451 R8s
+T
A 1 BE TR WE v =19KN/nd, ¢=30° | m° 4,425 5,343 3,987 3,814 672 18,241
AT RC-40 m® 14 - 38 11 - 63 (VT e—T




§2. 5—154#RTEET

2—1. HEKFEX
& Al A I - Tk B # £ i =

TR -EET
BEfEt (a7 —h %)) t=140mm m? 566.216
R (AR > ) 4.0t X80 m 114.920 |SS400 High A~ fF
R (AR > ) 4.0t X60 m | 9071.800 SM490A HighAvff
VIS RAN M12X 40 N 2912 5B X4y 8.8,8.0
K H Hupt 20t X 85 X 600 p5'e 492 ANy FL—h
FEKBAROHS 4X300XL m 750.0
H HLH L% ¢ AR 40X 250 X 600 M 12
HyhFL—h 6.0X 115X 500 & 41
B AR 4 FL PL-250X250%X3.2 [=1.20m A& 0=90°
S s B PL-250X250X3.2 1=0.60m A 0 =90°
FLH—FRk MI12%90 gk 22 | 4 A fit
DAYLE ' e 332

o)) —hL W=300mm

FE0 a2 7Y—h 24-8-25RB m’ 33.466
B P ' m? 154.397
H b t=20mm m’ 7.452 TIALAR
BT TSN m
B 5 D13 SD345 kg | 1471.900

HET
K 80.836
2 ) —h 18-8-25BB m’ 10.582
B P ' m? 38.034
SELERT D13 SD295 ke 80.4

HNHEAKL
T LS — M-30 m® | 279.875 KRG
Pk 75 4o M@ M-30 m® | 242.917 KRG




2—2. fHRIEMMHBE

Bl BB it E R H =
B @ M 566.216 m®
avyy—r%| t=140mm No. k=2 m?/ K% e )i
3 A6 3.240 X 41 132.840 m?
4 A7 3.240 X 15 48.600 m?
5 A8 3.240 X 53 171.720 m?
10 B8-1.20 3.240 X 6 19.440 m?
33 B4-0.60 1.620 X 5 8.100 m?
101 A9 3.240 X 3 9.720 m?
102 B5-0.60 1.620 x 7 11.340 m?
103 B9-1.20 3.240 X 5 16.200 m*
104 B10-1.20 3.240 X 3 9.720 m®
105 EA2-1.20 0.840 X 7 5.880 m?
106 EB1-0.60 0.420 X 1 0.420 m®
107 EB2-1.20 0.840 X 1 0.840 m?
109 EU1-0.58 0.406 X 1 0.406 m>
110 TA2-1.20 t=300mm 0.240 X 3 0.720 m?
112 TB2-1.20 t=300mm 0.240 X 1 0.240 m?
B SRS %

120 CL2-0.90 1.080 X 4 4.320 m®
121 CL4-0.90 1.080 x 3 3.240 m?
122 BCL2-0.60-0.90 0.540 X 1 0.540 m®
123 BCL4-1.20-0.90 1.080 x 1 1.080 m?
128 CL4-1.45 1.740 X 2 3.480 m?
129 CL6-1.45 1.740 x 2 3.480 m?
131 BCL6-1.20-1.45 1.740 X 1 1.740 m’
148 CL6-1.95 2.340 X 3 7.020 m?
150 BCL3-0.60-1.95 1.170 X 1 1.170 m?
156 CL6-2.00 2.400 X 4 9.600 m?
159 BCL6-1.20-2.00 2.400 X 1 2.400 m?
192 CR4-1.35 1.620 x 4 6.480 m?
193 BCR2-0.60-1.35 0.810 X 1 0.810 m®




Al

R

it E R

]

PNITE SR

200P UCL1-L0.53-R0.53-W0.90P
201P UCL2-10.54-R0.60-W1.45P
202P UCR4-L1.20-R1.27-W1.35P
203P UCL3-L0.67-R0.75-W2.00P

204P U6-L1.35-R1.46-W2.70P
205P U3-L0.86-R0.96-W2.70P
206P U8-L1.56-R1.67-W2.70P
207P U6-L1.07-R1.18-W2.70P
208P U3-L0.58-R0.69-W2.70P
209P U6-L1.29-R1.40-W2.70P
210P U3-L0.80-R0.90-W2.70P
211P U8-L1.50-R1.61-W2.70P
212P U6-L1.01-R1.12-W2.70P
213P U3-L0.52-R0.63-W2.70P
214P U6-L1.23-R1.34-W2.70P
215P U3-L0.74-R0.84-W2.70P
216P U6-L1.44-R1.55-W2.70P
217P U5-L0.95-R1.06-W2.70P
218P U3-L0.46-R0.57-W2.70P
219P U6-L1.17-R1.28-W2.70P
220P U3-L0.68-R0.78-W2.70P
221P U6-L1.38-R1.49-W2.70P
222P U5-L0.89-R1.00-W2.70P
223P U2-L0.40-R0.51-W2.70P
224P U6-L1.11-R1.21-W2.70P
225P U3-L0.61-R0.72-W2.70P
226P U6-L1.32-R1.43-W2.70P
227P U3-L0.83-R0.92-W2.70P
228P U8-L1.52-R1.62-W2.70P

229P UCL9-L1.63-R1.70-W1.95P

230P U6-L1.10-R1.20-W2.70P

231P UCL2-L1.21-R1.21-W0.90P

232 E1BU2-1.13
233 T1BU2-1.02

T I —
T Ir—
T H— st
T I —
T I —
T I —
T I —
T I —
T I —
T I —
T I — it
T I — itk
T I — At
T I — itk
T I — At
T I — it
T H— At
T I — itk
T I — At
T I — it
T I — At
T I — it
T I — At
T I — itk
T I — At
T I — it
T I — At
T I — it
T I — At
T I — itk
T I — At
T I — itk

0.477
0.827
1.667
1.420
3.794
2.457
4.361
3.038
1.715
3.632
2.295
4.199
2.876
1.553
3.470
2.133
4.037
2.714
1.391
3.308
1.971
3.875
2.552
1.229
3.132
1.796
3.713
2.363
4.239
3.247
3.105
1.089
0.791
0.204

Xn-XS=

XX XX X XXX XXX XXX XXXXXXXXXXXXXXXXX XXX

0.477
0.827
1.667
1.420
3.794
2.457
4.361
3.038
1.715
3.632
2.295
4.199
2.876
1.553
3.470
2.133
4.037
2.714
1.391
3.308
1.971
3.875
2.552
1.229
3.132
1.796
3.713
2.363
4.239
3.247
3.105
1.089
0.791
0.204
214 ¥ 566.216
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Al B i E R #M=E
HERM(AM)7  4.0tX 80 114.92 m
$5400 ANy 7 RS (m) ANy HETFENER (m) ¥ &
[L=9.00m] ( 6.16 + 3.00 ) X 2 = 18.32 m
[L=9.50m] ( 6.16 + 350 ) X 10 = 96.60 m
L1 = 114.92 m
M AN 4.0t X60 9071.80 m
SM490A FE& (m) AN 7 HETFNER (m) PN~ RFx
[L= 5.00m] ( 5.00 ) X 25 = 125.00 m
[L= 550m] ( 550 ) X 188 = 1034.00 m
[L= 6.00m] ( 6.00 ) X 311 = 1866.00 m
[L= 6.50m] ( 6.50 ) X 125 = 812,50 m
[L= 7.00m] ( 7.00 ) X 233 = 1631.00 m
[L= 750m] ( 7.50 ) X 97 = 72750 m
[L= 8.00m] ( 8.00 ) X 97 = 776.00 m
[L= 850m] ( 850 ) X 112 = 952.00 m
[L= 9.00m] ( 6.15 + 3.00 ) X 77 = 704.55 m
[L=9.50m] ( 6.15 + 350 ) X 27 = 260.55 m
[L=10.00m] ( 615 + 4.00 ) X 18 = 182.70 m
L2 = 9071.80 m
RILEFub M12 X 40 2912 A&
& AT VN
Al FRAA LS 1281 X = 2562 A
R H RS 134 X = 268 A
Ay MBI ANy 75T 41 X = 82 A
Y = 2912 A
JKFBHhAF |20t X 85X 600 492 ¥
L FL—h & e
NHIUVIE 1800 =W 147 X 3 = 441
NAVIE 1200 =W < 1800 10 X 2 = 20 #
NAMIE W=1200 X 1 = 9 K
NG W=T00(E=t—F—HT) X 2 = 18 #
NV W=200(T=—7F—#F) X 1 = 4 &
Xn = 492 ¥




Al

R

it E R

#E

BKBE#A

4X300XL

[#hE M ]
BE 15 AT
H=6.53m
H=6.60m
H=6.67m
H=6.75m
H=6.86m
H=6.96m
H=7.07m
H=7.18m
H=7.29m
H=7.40m
H=7.50m
H=7.61m
H=7.72m
H=7.83m
H=7.94m
H=8.04m
H=7.55m
H=7.66m
H=7.7Tm
H=7.88m
H=7.38m
H=7.49m
H=7.00m
H=7.11m
H=6.61m
H=6.72m
H=6.23m
H=6.32m
H=6.42m
H=5.82m
H=5.90m
H=5.98m
H=5.38m
H=5.41m
[R5 ]

RRIVAE &
L=0.20m
L=0.70m
L.=0.90m
L=1.35m
L=1.45m
L=1.95m
L=2.00m
L=2.70m

XX X X X X X X X X X XX XXX XXX XXX XXXX XXX XXX XX
e e e e e e T e T e T S R O e e R T N e e T e e e T e T e T B OV

X X X X X X X X
Gl U1 U1 © O

138

K ELXEAF(10%) ZEIVHIL, 10mEALIZE) D,
675.91 X 1.1

19.59 m
6.60 m
13.34 m
6.75 m
6.86 m
6.96 m
7.07 m
7.18 m
7.29 m
7.40 m
7.50 m
7.61 m
7.72 m
7.83 m
7.94 m
8.04 m
7.55 m
7.66 m
7.77 m
7.88 m
7.38 m
7.49 m
7.00 m
7.11 m
6.61 m
6.72 m
6.23 m
6.32 m
6.42 m
5.82 m
5.90 m
5.98 m
5.38 m
5.41 m

0.80 m
6.30 m
8.10 m
6.75 m
7.25 m
7.80 m
10.00 m
372.60 m

XL

675.91 m

750.00 m

750.0 m




Al B i E R M=
B#ATLFRME| 40 X 250 X 600 12 #
BEE & FT BBV
H=6.67m 1 X 12 12 #&
>n 12
HEyrTL—F]6.0X 115 X500 41
B ARY > 7 B 8 41
SR EfE EE < B | PL-250 X 250 X 3.2
$S400 L=1.20m  (90° ) 9 K 9 &
[=0.60m  (90° ) 2 K 2 K
>n 11 A
7O—7rh—| MI12x90 22 #yh
EGIEEN
il R R A HAR%KL 11 X 2 29 Ty
ORILEY 332
ARV IR O {E S
RNEI 2 166 X 2 332 f#

MR SR A—F =R RS,




2—3. %3 9)—+I

Al b it E R =
TEHIVY)-LT
(B2AR)
av9)—k | 24-8-25BB 33.466 m*
CiL I R B S R 154.397 m?
B #hAf t=20mm 7.452 m?
B B |7orobes
% f D13(SD345) 1471.9 kg




Al % iFE R #}E
[WrE k]
450 BIER L = 80.836 m
H Huilg = 20 mm
HibfEpmge = 18 f&y
2
[ee] (=3
B
S
[
[aN]
140 | 160,
a7 — i AE (R & X)
S= 0.830 X 0.450 + 0.250 X 0.160 = 0.414
aV91)—b | o ck=24N/mm* 33.466 m°
Ve i A LR
V= 0.414 X 80.836 = 33.466 m’
2o 154.397 o’
T & A T LR
ASHE Al = ( 0.830 + 1.080 ) X  80.836 = 154.397 p?
SA = 154.397
B #th#t t=20mm 7.452 m®
TIFRHEAR A = 0414 x 18 fFT = 7.452 m’
B & AZaIN . m
L = m
% D13 1471.9 kg
SD345 W= 98327 X 80.836  5.40 = 1471.9 kg
[ &5 Wi 2RO D ]
l S1=830 + 772 = 1602 S2=830 + 287 = 1117
2 o 350 —
R 9
g o
g % 2 2
o J o)
1 Yl B E
- NN ¥ =
\ E— R39
N $3= 5240
5240
| ‘DDDDDDDDDDDD
140 160 Lk ooooooooon
5.4m¥4 72V
(1) 1.602 m X 0.995 kg/m X 19 & = 30.286 kg
(s2) L117 m X 0.995 kg/m X 19 & = 21.117 kg
(S3) 5240 m X 0.995 kg/m X 9 A = 46.924 kg
SW o= 98.327 kg




2—4. H@T

Al RO it E K #E
HEET

£ K 80.836 m
avo)—k | 18-8-25BB 10.582 m*

B 38.034 m?
ZLEAR | D13(SD295) 80.4 kg




Al RO it E K # =
200t X600W &2 1: 0.5
(CRIELZIN
Y — L
600
‘ D13 L=300 @600
(/ By 71—
= 1/
| | 200
FapfEa o) — N A
S= 0.600 X 0.200 0.120 m?
E E = 80.836 m 80.836 m
av41)—k | 18-8-25BB 10.582 m®
— %R JER
V1 80.836 = 9.700 m*
Beze
BrEmX a2 7Y —MATE
[ H= 0.600 m ] = 0.126 X = 0.882 m®
= 0.882 m’
¥ ar s —MEREIL, B R EAE SR
BEFEED
&t sV 9.700 +  0.882 = 10.582 m®
EiA I ] 38.034 m?
X g
Pl T = ( 0.200 X 80.836 = 32.334 m?
7 17 1 P
FEI = 0.120 X = 0.240 m®
B BeEmE TP AR
[ H= 0.600 m ] = 0.780 X = 5.460 m’
= 5.460 m’
e AR RS, By A SR
FEEB
At A + 0.240 + = 38.034 m?
ZL&A7 | D13(SD295) 80.4 kg
W= 80.836  0.600 X 0.300 X 0.995 X = 80.4 kg




Al

N

it E R

felo

BEMEE

L_J 0.5XH

200
ZA 74 H m) | B (m) | 0.5XH |Boeimimig & 5 3
2 A7 Al 0.600 0.500 0.300 0.210 7
% 47 B| 1.200 0.800 0.600 0.600
2 A7 C| 1.800 1.100 0.900 1.170
2 A4 7Dl 2.400 1.400 1.200 1.920
B et A
S=(B+ 020)xH,/2
1) = 7U—MAH
Berstmfg  ALmiE
AATA 0.210 X 0.60 = 0.126
ZA7B 0.600 X 0.60 = 0.360
HZAFC 1.170 X 0.60 = 0.702 p?
ZALTD 1.920 X 0.60 = 1.152 p?
2) BUFemEFE
Beoermfniym  Bers i A i
HATA 0210 X 2 + 0600 X 060 = 0.780 rp?
ZA7B 0.600 X 2 + 1.200 X 060 = 1.920 p?
HZAFC 1.170 X 2 + 1.800 X 0.60 = 3.420 p?
ZA7D 1.920 X 2 4+ 2400 X 0.60 = 5.280 mp?




2—5. #thTFHEIKT

Al RO it E K #E
HTFHEKT
BEEI S—| R 279.875 m’
HekISorvn| kiR 242.917 m’




Al RO it E K # =
TANE— R W AR
BER I 7 4V A —
|
= !
1
500 | !
! !
| |
! !
| |
1 .
. |
1 .
| !
i !
|
1
BEEIILI—| R 279.875 m°
M-30 BERRE  Tv-BE LA=NEISTNLS IR
V= 566.216 X 0.500 — 0.250 X 0.160 X 80.836 = 279.875 m°
=N SN
HAKISUrIn| R 242.917 m°
M-30 No| EEGE | i £ n L1 | L2 | B= | Wk ARG
(m) At m) | m) | (m) (m?) (m®)
1|H=11.38m|  14.700 5.000 | 5.000 | 0.600 | 3.000 44.100
2|H=11.98m|  13.500 5.000 | 5.000 | 0.600 | 3.000 40.500
3|H=12.58m|  10.800 5.500 | 5.500 | 0.600 | 3.300 35.640
4|H=11.98m 5.400 5.000 | 5.000 | 0.600 | 3.000 16.200
5| H=12.58m 5.400 5.500 | 5.500 | 0.600 | 3.300 17.820
6| H=11.98m 5.400 5.000 | 5.000 | 0.600 | 3.000 16.200
7/H=11.38m|  10.800 5.000 ] 5.000 | 0.600 | 3.000 32.400
8|H=10.78m|  13.086 4.500 | 4.500] 0.600] 2.700 35.332
9] H=10.18m 1.750 4.500 | 4.500] 0.600] 2.700 4.725
& &t 80.836 242.917
[FHEK]
Wrmmfg = (L1 +L2) XH, /2
& = Wrimfd X R

X H kT Iy NEE




§3. 5—25MRLET

B Al WA & - ik B % = wm =
R RE T
BEMA (2 7Y —b 30 L) t=140mm m’ 768.327
TR (AN > ) 4.0t X 80 m | 6338.000 [SS400 HEENAYFfF
WM (AR > ) 4.0t X 60 m | 1868.000 SM490A HESH AT
ARk M12 X 40 ZN 2274 |FREEX4) 8.8,8.0
K- B Hikf 20t X 85X 600 ¥ 663 LI 7L —h
ZEKBARb A 4 X300 XL m 1010.0
H #1712 AMK 40X 250 X 600 e 33
ity S A 4 L PL-250X250X3.2 L=1.20m = A | 4| 0=90°
7w Ir—RVh M12X90 ETY 8 | At
UAYLE o 454
ISR L CHE
W m 140.185
Y —h 24-8-25BB m’ 102.615
LI S’ 205.402
b t=20mm | 2 10.980 =724 Ak
L= sy —h 18-8-25BB m® 15.140
KL=z 7Y — M m’ 14.127
S RC-40 m’ 106.120 |79y vy —Tv
FIAAF T— )L 50 X500 1000 Ho 141
2L YDA 10300 X 1000 Ea 141
B D13 SD345 kg 71494
ey —b T W=300mm
(B =0) a2 7Y—h 24-8-25BB m® 26.215
U M m? 172.615
B b =20mm = 5.610 T=FAHA|
RHT TSN m )
Bk D13 SD345 kg | 1800.900
HET
E R m 140.185
a2 Y—h 18-8-25BB 3 21.508
U M m® 81.939
FELEKAS D13 SD295 | ke 155.5
SR RC-40 S’ 93.891 t=20cm
KT
P EHFLE) TM-200 m 150.000
P (L) ¢ 200 m 50.000
BRI AT S-40(3%5) m’ 35.990
B kT 7 EALE A
THkF TM-200 1 7
i e TM-200 1 4
T T2 —fE M-30 m’ 378.556 RigRfEA
Pek7 718 M-30 m’ 531.749 RIREA




3—2. fHERIENMUE

Al b i E K 8=
B m M 768.327 m?
avyy—ksSxL|  t=140mm No. o= m?/# #e [

1 A4 3.240 X 107 346.680 m’

2 Ab 3.240 X 7 22.680 m?
3 A6 3.240 X 19 61.560 m?
4 A7 3.240 X 1 3.240 1’
5 A8 3.240 X 3 9.720 m?

6 B4-1.20 3.240 X 14 45.360 mp?
8 B6-1.20 3.240 X 6 19.440 >
9 B7-1.20 3.240 X 6.480 m?
10 B8-1.20 3.240 X 3.240
18P U2-0.58P Trh—ft 1566 X 21 32.886 m’
21P U4-1.18P ToA—fft 3186 x 23 73.278 p?
31 B2-0.60 1.620 X 17 27.540 m?
33 B4-0.60 1.620 X 4 6.480 m?
71P UB4-1.18P T —fhfE 3.186 X 1 3.186 m?
110 TA2-1.20 t=300mm 0.240 X 9 2.160 m?
111 TB1-0.60 t=300mm 0.120 X 1 0.120 ?
112 TB2-1.20 t=300mm 0.240 X 1 0.240 ?
113 TU1-0.58 t=300mm 0.116 X 1 0.116 m?
114 TU2-1.18 t=300mm 0.236 X 1 0.236 m?

B S AR %

133 CL4-1.50 1.800 X 5 9.000 m?
134 CL5-1.50 1.800 X 1 1.800 m?
135 BCL6-1.20-1.50 1.800 X 1 1.800 m?
136P UCL4-1.18-1.50P TUA—fft 1770 X 1 1.770 m®
137 CL4-1.60 1.920 X 9 17.280 m?
138 CL6-1.60 1.920 X 1 1.920 m?
139 BCL2-0.60-1.60 0.960 X 1 0.960 m?
140 BCL3-0.60-1.60 0.960 X 1 0.960 m?
141P UCL2-0.58-1.60P ToA—HfE 0.928 X 1 0.928 m*
142P UCL4-1.18-1.60P T A—hft 1.888 X 1 1.888 m®
147 CL4-1.95 2.340 X 5 11.700 1p?
149 BCL2-0.60-1.95 1.170 x 2 2.340 m?
153P UCL2-0.58-1.95P ToA—fE 1131 X 2 2.262 m*
155 CL4-2.00 2.400 X 3 7.200 mp?
157 BCL2-0.60-2.00 1.200 X 1 1.200 m?
160P UCL2-0.58-2.00P TUA—fhft 1.160 X 1 1.160 m®
167 CR4-1.60 1.920 x 5 9.600 m?
168 CR5-1.60 1.920 X 1 1.920 m?
169 BCR6-1.20-1.60 1.920 x 1 1.920 m?
170P UCR4-1.18-1.60P Tl —ft 1.888 X 1 1.888 m?
178 CR4-1.95 2.340 X 2 4.680 m?
179 BCR2-0.60-1.95 1.170 x 1 1.170 m?
181P UCR2-0.58-1.95P ToA—fE 1131 X 1 1.131 m?
183 CR4-2.25 2.700 X 2 5.400 m?
188 BCR4-1.20-2.25 2.700 X 1 2.700 m?
190P UCR4-1.18-2.25P T —ft 2.655 X 1 2.655 m?
191 CR2-1.35 1.620 x 2 3.240 ?
194 BCR2-1.20-1.35 1.620 X 1 1.620 m?
195P UCR2-1.18-1.35P TUA—EfE 1593 X 1 1.593 m?
Yn:XS= 295 K 768.327 m?




Al b i E K 8=
fEERA (AM)977| 4.0t 80 6338.00 m
$5400 ANy T EE (m) AN HETNGR (m) A s

[ L= 450m] ( 450 ) X 20 = 90.00 m
[L=5.00m] ( 500 ) X 20 = 100.00 m
[L= 550m] ( 550 ) X 22 = 121.00 m
[L=6.00m] ( 6.00 ) X 16 = 96.00 m
[L= 6.50m] ( 650 ) X 36 = 234.00 m
[L=7.00m] ( 7.00 ) X 30 = 210.00 m
[L= 750m] ( 7.50 ) X 148 = 1110.00 m
[L=8.00m] ( 8.00 ) X 392 = 3136.00 m
[L= 850m] ( 850 ) X 146 = 1241.00 m
LI =  6338.00 m
wWeas My 4.0t X60 1868.00 m
SM490A & (m) ARy ZHEFNER (m) i E&
[L= 5.00m] ( 5.00 ) X 56 = 280.00 m
[L= 550m] ( 550 ) X 53 = 291.50 m
[L= 6.00m] ( 6.00 ) X 84 = 504.00 m
[L= 6.50m] ( 650 ) X 34 = 221.00 m
[L= 7.00m] ( 7.00 ) X 59 = 413.00 m
[L= 7.50m] ( 7.50 ) X 19 = 142.50 m
[L=8.00m] ( 8.00 ) X 2 = 16.00 m
YL2 = 1868.00 m
RILEFyb M12 X 40 2274 K
&7 ZN
HRTRAA B 1137 X 2 = 2274 K
z = 2274 K
K B #h#t | 20t X85 X600 663 f&
)Ly —h & T %
NAMIE 1800=W 198 X 3 = 594 &
NAVIE 1200 =W < 1800 29 X 2 = 58 &
NG W=200(T=2—F—%E) 11 X 1 = 11 #%
Yn = 663 &




Al b i E K 8=
BKBRELAT | 4X300XL 1010.0 m
[$n1E 1]
BE & &7
H=1.78m X 1 = 1.78 m
H=2.98m X 1 = 2.98 m
H=3.58m X 3 = 10.74 m
H=4.18m X 12 = 50.16 m
H=4.78m X 23 = 109.94 m
H=5.98m X 2 = 11.96 m
H=6.58m X 1 = 6.58 m
H=7.18m X 1 = 7.18 m
H=7.78m X 1 = 7.78 m
H=8.38m X 1 = 8.38 m
H=8.98m X 3 = 26.94 m
H=9.58m X 7 = 67.06 m
H=10.18m X 3 = 30.54 m
[k H 1]
IRV (E5B0
L=0.20m X 11 = 2.20 m
L=1.35m X 3 = 4.05 m
L=1.50m X 7 = 10.50 m
L=1.60m X 19 = 30.40 m
L=1.95m X 10 = 19.50 m
L=2.00m X 4 = 8.00 m
L=2.25m X 3 = 6.75 m
L=2.70m X 181 = 488.70 m
YL o= 912.12 m
¥ I LXAF(10%) ZEIVEL, 10mBALIZY) T3,
912.12 x 1.1 1010.00 m
B#ATLEvRME| 40 X 250 X 600 33 #&
B (E5)5, EBEVE:
H=4.78m 2 X 8 = 16 £
H=10.18m 1 X 17 = 17 #%
Yn = 33 ¥
IRER SR EE & B [ PL-250x250%3.2
$S400 L=1.20m  (90° ) 4 K 4 K
Xn = 4 K
FTA—F72h—| MI12X90 8 ¥yh
EBIEVEN:S
iR N 4 X 2 = 8 tyh
CRILEY 454 {H
A VIBE I E
SFIVHCER 227 X 2 = 454 &

MR SRV, a—F = SRLERL,




3—3. JII[HEMT

| B i E R ¥ =
ISTRHEM T
CHE
i £ 140.185 m
av41)—k | 24-8-25BB 102.615 m*
EiA I 205.402 m?
B 4t TFALAR 10.980 m?
gLavs)—k| 18-8-25BB 15.140 m*
HLav sy — R 14.127 m*
HEERG |750v—5 106.120 m®
MR FO—)L 50 X500 141 ¥
WHY-reVY BT L 10X 300 141 #
£ h SD345 D13 7149.4 kg




| B i E R ¥ =
[ Wr i T2k ]
_ 400 1100 109
‘ ‘ B = 140.185 m
- B = 20 mm
- 5 AT = 15 i
N / x_] JOM4
22 sY—h / gl 9
B VT A 0
\4%%1X%D~/ \ #arsy—
50 1080 400 500
V7 o
0.730 X 0.400 + 0.400 X 1.100 = 0.732 2
& E 140.185 m
a9\ )—k | 24-8-25BB 102.615
LTy LR
V = 0.732 X 140.185 = 102.615 p°
R 205.402 1
LTy [ESTBlR
FEE AL = 0.732 X 1 = 0.732 m?
AT il 2
AW A2 = (0.730 4+ 0.330 + 0.400 )X 140.185 = 204.670 1
XA = 205.402 p?
B ttht t=20mm 10.980 12
TIARLZAR Ty H &P
A = 0.732 X 15 = 10.980 1?2
#Lavs)—r| 18-8-25BB 15.140 p*
[ty & LR
VvV = 0.100 X 1.080 X 140.185 = 15.140 p°
gLavyy— R 14.127 12
[ty YLamg @ik
HEER 0.100 X 1.080 X 1 = 0.108 1?2
¥L=av @ HER
B m 0.100 X 140.185 = 14.019 2
YA = 14.127 m?
®2@Ra (750 v—50 106.120 p°
BjLavig &
Al = 1.080 x 0.400 A2
, Al
= 0.432 2
A2 =( 0.900 + 0.400 )X 0.500 , 2
= 0.325 2
A =( 0432 + 0.325 )x 140.185 = 106.120 p®




i H % i E R o=
FmRFO—)L| 50%500 141
L = 140.185 m Im¥40 1k BRI E — 141 ¥
avy)—k 10X 300 141
EVCRAI LA L 140.185 m Im¥0 1k BRIl E — 141 ¥
E53:0] SD345 D13 = 51.0 k& x 140.185 m = 7149.4 kg 7,149.4 kg
Rt I St T 2 R




3—4. ERIVY)—+T

Al b it E R =
TEHIVY)-LT
(B2AR)
av9)—k | 24-8-25BB 26.215 m°
CiL I R B S R 172.615 m?
B #hAf t=20mm 5.610 m?
B B |7orobes
% f D13(SD345) 1800.9 kg




i | H % it E K # =
W=300mm
[S= TR
- An *IHZ
HII: Al
A AR R R
> (H1+H2) X Ln,2
[FyHRE ]
H1 H2 L
1 Al = (029 + 0559 ) X 6600 2 = 2.818 m?
2) A2 = (0559 + 0.821 ) X 6550 2 = 4.520 m?
3) A3 = (0221 + 0761 ) x 13450 2 = 6.604 m?
4) A4 = (0161 + 0.809 ) x 16.250 2 = 7.881 m?
5) A5 = (0209 + 0359 ) x 3750 2 = 1.065 m?
6) A6 = (0359 + 0.719 ) X 9.004 2 = 4.853 m?
7) A7 = (0719 + 0.856 ) X 3.446 2 = 2.714 m?
8) A8 = (0256 + 0559 ) X 7639 2 = 3.113 m?
9) A9 = (0559 + 0.767 ) X 6.048 2 = 4.010 m?
100 A10 = ( 0.167 + 0452 ) x 7742 2 = 2.396 m*
11) All = ( 0452 + 0640 ) X 6.397 2 = 3.493 m?
12) Al2 = ( 0.640 + 0.790 ) X 6.658 2 = 4.760 m?
13) Al13 = ( 0.190 + 0291 ) X 4470 J 2 = 1.075 m?
14) Al4 = ( 0.291 + 0499 ) X 9.088 2 = 3.590 m?
15) Al5 = ( 0499 4+ 0685 ) X 9.416 2 = 5.574 m®
16) Al6 = ( 0.685 + 0.780 ) x 4777 J 2 = 3.499 m?
17)  A17 = (0180 + 0299 ) X  6.005 2 = 1.438 m?
18) Al18 = ( 0.299 + 0554 ) x 12.895 2 = 5.500 m’
L = 140.185 m XA = 68.903 m’
YHH = A/ XL = 68.903 140.185 = 0.490 m
[Wrim ik ]
300 SR L = 140.185 m
B Hilg = 20 mm
HHufEp = 30 &P
gﬁ (=)
=
2
N
140| 160
M= 7 — N A R & )
S= 0.490 X 0.300 + 0.250 X 0.160 = 0.187 p?
a>91)—k | 24-8-25BB 26.215 m®
Ve T HE &
V= 0.187 X 140.185 = 26.215 m®




M Al % iFE R #=E
il I oA 172.615 m?
T T e T ) LR
BiSAE A1 = (0490 + 0.740 ) X  140.185 = 172.428
Ve T A T
FI A2 = 0.187 x 1 = 0.187 m?
SA = 172.615 m?
B th#t t=20mm 5.610 m?
THAXAR A 0.187 X 30 fHFT = 5.610 m?
B 5 TIoNE m
L = m
&% & D13 1800.9 kg
SD345 W= 69.373 X 140.185  5.40 = 1800.9 kg
[ &5 Wi 2R ORI D) ]
| S1=490 + 472 = 962 S2= 490 + 287 = 777
8 0 200 5 A
2 10
g = j <
Lo o
] o <
© N § ©
A J
1 Yl B E
Lo
o 5 =
% — R39
N $3= 5240
5240
\ \DDDDDDDDDDDD
140 160
Lk ooooooooog
5.4m4720
(S1) 0.962 m X 0.995 kg/m X 19 & = 18.187 kg
(52) 0.777 m X  0.995 kg/m X 19 & = 14.689 kg
(S3) 5240 m X 0.995 kg/m X 7R = 36.497 kg
W = 69.373 kg
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DL=60.000
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140185
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Asg
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1600 | 1350 | 2000 |
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5-20 00000 L=140135

I

H=11.38m

H=11.98m

DQ_#=12.580 | H=11.98n
Y

H=12.58m He11.08n— |

H=11.38m

H=10.78m

TAK



ERHAVYY—hHik

(2)

5O
> 5 ; 0
N o ¥ o > oF > oF
140185
6048 7742 6397 11128 9088 9416 10782 12895
7742 6397 6658 4470 9088 9416 4777 6005 12895
‘'
18 072.574
072.319
072.105
071.919
0 71.460 LT
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3—5. T

Al A% it E R M=
HET
TYPE-1| TYPE-2 | TYPE-3 | TYPE-4

E E 99.974 8.100 | 16.200 | 15911 140.185 m
av49)—hk | 18-8-25BB 8.814 1.350 4560 6.784 21.508 m®

Eil =] 47110 5700 | 13560 | 15.569 81.939 m?
ELEF | D13(SD295) 99.5 8.1 215 26.4 155.5 kg
HBEM  |7ovsv—o 54.758 5.760 | 15.000 | 18.373 93.891 m?




<TYPE—1>

Al RO i E R #H =
HET
TYPE-1

E E 99.974 m
av4)—k | 18-8-25BB 8.814 m’

Eit =] 47.110 m?
EL8F | D13(SD295) 99.5 kg
HiE# |50 v—5 54.758 m?




<TYPE—1>

Al N iR A % E
TYPE-1  200tX400W & 1: 0.5
(CEVZN |
600

A7) —h L
400

D13 =300 @600

a7 —h

200

Fepgko ) — N R
200 5= 0,400 X 0.200 = 0.080 2

T K L = 99.974 m 99.974 m
av4H)—k | 18-8-25BB 8.814 m’
— R b R
V1 = 0.080 X 99.974 = 7.998 m*
Beze
BEmS 2L Y —MERE
[H= 0.600m] V2 = 0.084 X 4 fEET = 0.336 m’
[H= 1.200m] V2 = 0240 X 2 fEET = 0.480 m*
V2 = 0.816 m*

X a7V —MRREIT, B A S

— i B
At SV o= 7.998 + 0.816 = 8.814 m*
) 47.110 m*
S T
AT T Al = ( 0.200 X 99.974 )x 2 = 39.990 m?
7 T T
FER A2 = 0.080 x 14 = 1.120 m?
By BEAES TP AR
[H= 0600m] A3 = 0.660 X 4 P = 2.640 m’
[H= 1.200m] A3 = 1.680 X 2 T = 3.360 m’
SA2 = 6.000 m®
¥ MR IAEIT, By =T A S IR
T T FEER BE
At SA = 39990 + 1.120 +  6.000 = 47.110 m®
ZL&A7 | D13(SD295) 99.5 kg

W= 99974  0.600 X 0.300 X 0.995 X 2 = 99.5 kg




<TYPE—1>

Al RO i E R M=
BERM |77 54.758 m”
— s
FERREREA HE
Al= 0.600 X 93.664 = 56.198 m’
Bt
BEEEE ERIER m
[ H= 0.600 m ] 0.300 X 4  »ff = 1.200 m
[ H= 1.200 m ] 0.600 X 2 »ff = 1.200 m
L = 2.400 m
JEREREA R fIdEs
A2=0.600 X  2.400 = 1.440 m?
2R BEE
Al — A2 = 56.198 -  1.440 = 54.758 m?
BREMEE
B
H
oy
200
2474 H@m) | B m) | 0.5xH |Bemms &6 51 &
2 A7 Al 0.600 0.500 0.300 0.210 4
% 47 B| 1.200 0.800 0.600 0.600 2
2 A7 C| 1.800 1.100 0.900 1.170
2 A4 7Dl 2.400 1.400 1.200 1.920
Bt A
S=(B+ 020)xH,/2
1) = 7U—MEAH
Breimmig SR
HAATA 0.210 X 0.40 = 0.084
ZA7B 0.600 X 0.40 = 0.240
HZAFC 1.170 X 0.40 = 0.468 p?
ZALTD 1.920 X 0.40 = 0.768 p?
2) BIFemEFE
S R R B A R
AT A 0.210 X 2 + 0.600 X 0.40 = 0.660 m?
HZA7B 0.600 X 2 4+ 1.200 X 0.40 = 1.680 m?
HZAFC 1.170 X 2 + 1.800 X 0.40 = 3.060 m>
HZATD 1.920 X 2 + 2400 X 0.40 = 4.800 mp?




<TYPE—2>

Al RO i E R #H =

HET
TYPE-2

E E 8.100 m
av4)—k | 18-8-25BB 1.350 m°

BB 5.700 m?
EL8F | D13(SD295) 8.1 kg
HigH  [rovvv—T 5.760 m’




<TYPE—2>

Al N iR A % E
TYPE-2  200tX600W & 1: 0.5
(CEVZN |
800

LY=L
600

m / D13 [.=300 @600
% / e =N
il

T T
| :/ 200
/\)(‘/7\\<\\</\\ 500 FepgEo 7)) — N AE
\ NN S= 0.600 X 0.200 = 0.120 12
bR el
E E L = 8.100 m 8.100 m
avo)—k | 18-8-25BB 1.350 m°
— B 7 T JER
V1 = 0.120 x  8.100 = 0.972 m®
Beze
BrEmX a2 7Y —MATE
[H= 0600m] V2 = 0.126 X 3 fhpT = 0.378 m°
SV2 = 0.378 m°
¥ oL Y —MAREIT. BeEE A S R
— BeFETR
At SV o= 0.972 + 0.378 = 1.350 m°
T 5.700 m’
TS JudEs
AT T 40 Al = ( 0.200 X 8100 )x 2 = 3.240 m?
7 17 i P
EH A2 = 0.120 x 1 = 0.120 m®
B BEmS T T FE
[H= 0600m] A3 = 0.780 X 3 fEEF = 2.340 m’
A2 = 2.340 m?
e AR RS, By EE SR
R o 00 FEHL By
Gt SA = 3240 4+  0.120 + 2.340 = 5.700 m’
ZL&A7 | D13(SD295) 8.1 kg

W= 8.100  0.600 X 0.300 X 0.995 X 2 = 8.1 kg




<TYPE—2>

Al RO i E R #H =
HiE# |50 v—5 5.760 m®
— s
FERREREA HE
Al= 0.800 X  8.100 6.480 m®
Bt
BEmS PERIER m
[ H= 0.600 m ] 0.300 X 3 4R 0.900 m
L = 0.900 m
FERREREA HE £
A2=0.800 X  0.900 0.720 m®
2R BEE
Al — A2 = 6480 - 0.720 5.760 m®
BREMEE
B
H
| ogn
200
2474 H@m) | B m) | 0.5xH |Bemms &6 51 &
2 A7 Al 0.600 0.500 0.300 0.210 3
% 47 B| 1.200 0.800 0.600 0.600
2 A7 C| 1.800 1.100 0.900 1.170
2 A4 7Dl 2.400 1.400 1.200 1.920
Bt A
S=(B+ 020)xH,/2
1) = 7U—MEAH
Berstmfg  ALmiE
HAATA 0.210 X 0.60 = 0.126
ZA7B 0.600 X 0.60 = 0.360 p°
HATC 1.170 X 0.60 = 0.702 p?
ZALTD 1.920 X 0.60 = 1.152 p?
2) UM
BRErmAEm B A i
AT A 0.210 X 2 + 0.600 X 0.60 = 0.780 m?
HZATB 0.600 X 2 4+ 1.200 X 0.60 = 1.920 p?
HZAFC 1.170 X 2 + 1.800 X 0.60 = 3.420 >
HZATD 1.920 X 2 + 2400 X 0.60 = 5.280 mp?




<TYPE—3>

Al RO i E R #H =

HET
TYPE-3

E E 16.200 m
av4)—k | 18-8-25BB 4.560 m°

Eit =] 13.560 m?
EL8F | D13(SD295) 21.5 kg
HiE# |50 v—5 15.000 m?




<TYPE—3>

Al N iR A % E
TYPE-3  300tX800W A& 1:0.5
(CEVZN |
1000

Y — SR
800

140

F_> / D13 L.=400 @600
% /| JepEay 7Y —h
=0

T T
| :/ 300
)UQO 200 HeffEo o) — T RS
/ ¥ S= 0.800 X 0.300 = 0.240 m2
|%@wz
E E L = 16.200 m 16.200 m
avo)—k | 18-8-25BB 4560 m’
— 7 T R
V1 = 0.240 X  16.200 = 3.888 m*
Beze
BeEmE a2 7Y —MATE
[H= 0.600m] V2 = 0.168 X 4 EEF = 0.672 m®
V2 = 0.672 m*
¥ oL Y —MAREIT. BeEE A S R
—fi B
At DAVARS 3.888 + 0.672 = 4.560 m°
) 13.560 m*
TS gy
AT T 40 Al = ( 0300 X 16.200 )x 2 = 9.720 m?
7 17 i P
EH A2 = 0.240 x 1 = 0.240 m®
B BEmS TP T AR
[H= 0.600m] A3 = 0.900 X 4 fEET = 3.600 m?
SA2 = 3.600 m?
X BIME AR, B EA S R
A7 FE B
At SA = 9720 + 0240 +  3.600 = 13.560 m?
ZL&A7 | D13(SD295) 21.5 kg

W= 16.200  0.600 X 0.400 X 0.995 X 2 = 21.5 kg




<TYPE—3>

Al RO it E K #E
B 77— 15.000 m*
— e
SRR LR
Al= 1.000 X 16.200 16.200 m*
B0
BrEmE PEREERE m
[ H= 0.600 m ] 0.300 X 4  »FfF 1.200 m
SL = 1.200 m
SRR LR
A2=1.000 X  1.200 1.200 m?
EoNs Bzt
Al — A2 = 16.200 -  1.200 15.000 m?
BN E
B
H
0.5 X H
R
200
2474 Hm | B m) | 0.5xH |Bemmml & pr ¥k
2 47 Al 0.600 0.500 0.300 0.210 4
% 47 B| 1.200 0.800 0.600 0.600
% 47 C| 1.800 1.100 0.900 1.170
2 47 D| 2.400 1.400 1.200 1.920
B iy
S=(B+ 020)xXH /2
1) a2 7U—MKHE
BRoeinimfd  JEHEIE
AT A 0.210 X 0.80 = 0.168 m3
2T B 0.600 X 0.80 = 0.480 m3
H2ATC 1.170 X 0.80 = 0.936
H2ALTD 1.920 X 0.80 = 1.536
2) UM
Br v mfEaT I B A A
AT A 0.210 X 2 + 0.600 X 0.80 = 0.900 p?
2ATB 0.600 X 2 + 1.200 X 0.80 = 2.160 m?
AT C 1.170 X 2 + 1.800 X 0.80 = 3.780 m?2
H2ALTD 1920 X 2 4+ 2400 X 0.80 = 5.760 m2




<TYPE—4>

Al RO i E R #H =

HET
TYPE-4

E E 15.911 m
av4)—k | 18-8-25BB 6.784 m’

Eit =] 15.569 m?
EL8F | D13(SD295) 26.4 kg
HiE# |50 v—5 18.373 m®




<TYPE—4>

Al RO it E K #H =
TYPE-4 400t X 1000W &K 1: 0.5
((CRIEZIN
1200
LYY
1000 /
140 /
‘ D13 =500 @600
’ r// s o) — |
=l
| :/ 400
)UQO 200 HeffEo o) — T RS
/ I 2 S= 1.000 X 0.400 = 0.400 2
|%@wz
E E L = 15.911 m 15.911 m
av41)—k | 18-8-25BB 6.784 m’
— 7 T JER
Vi = 0.400 X 15.911 = 6.364 m*
Beze
BrEmX a2 7Y —MATE
[H= 0600m] V2 = 0210 X 2 fEEF = 0.420 m*
V2 = 0.420 m®
¥ oL ) —MEREL, BEESEA SR
— BeFETR
At PIAVARS 6.364 + 0.420 = 6.784 m°
) 15.569 m*
TS JudEs
AT T Al = ( 0400 x 15911 )x 2 = 12.729 m?
7 17 i P
EH A2 = 0.400 X = 0.800 m’
B BEmS TP T AR
[H= 0600m] A3 = 1.020 X 2 fEEF = 2.040 m’
A2 = 2.040 m?
e AR RS, By EE SR
T T 0 FEER BE
Gt SA = 12729 4+  0.800 +  2.040 = 15.569 m’
ZL&A7 | D13(SD295) 26.4 kg

W= 15911  0.600 X 0.500 X 0.995 X 2 = 26.4 kg




<TYPE—4>

Al RO it E K #E
B 77— 18.373 m”
— e
SRR LR
Al= 1.200 x 15.911 = 19.093 m?
B0
BrEmE PEREERE m
[ H= 0.600 m ] 0.300 X 2 »FF = 0.600 m
SL = 0.600 m
SRR LR
A2=1.200 X  0.600 = 0.720 m®
EoNs Bzt
Al — A2 = 19.093 -  0.720 = 18.373 m?
BN E
B
H
0.5 X H
R
200
2474 Hm | B m) | 0.5xH |Bemmml & pr %
2 47 Al 0.600 0.500 0.300 0.210 2
% 47 B| 1.200 0.800 0.600 0.600
2 A7 C| 1.800 1.100 0.900 1.170
% 47 D| 2.400 1.400 1.200 1.920
B iy
S=(B+ 020)xXH /2
1) a2 7U—MKHE
BRoeinimfd  JEHEIE
AT A 0.210 X 1.00 = 0.210 m3
2T B 0.600 X 1.00 = 0.600 m3
H2ATC 1.170 X 1.00 = 1.170 mp?
H2ALTD 1.920 x 1.00 = 1.920
2) UM
Br v mfEaT I B A A
AT A 0.210 X 2 + 0600 X 1.00 = 1.020 p?
2ATB 0.600 X 2 + 1.200 X 1.00 = 2.400 p?
AT C 1.170 X 2 + 1.800 X 1.00 = 4.140 mp?
H2ALTD 1920 X 2 4+ 2400 X 1.00 = 6.240 mp?




3—6. HTHKT

Al RO it E K #H =
HTFHEKT
BEHE TM-200 150.000 m
BIE ¢ 200 50.000 m
Huma S-40(3%) 35.990 m®
MEFH AT 7 {#
THEF TM-200 7 A
TRy TM-200 4 A
BUEI S| KR 378.556 m’

BRI ki

531.749 m’




Al RO it E K #E
FFEImY4 05
700 HEKE
\ O// =
3
1 HFEEKRT. (AL -EILE - PiKk~<vbh) L = 1.000 m
2 W
{C 070 + 0.40)x 0.50 / 2 }x 1.00 = 0.275
0.20 X 020 X 3.14 / 4 = 0.0314 - & O
0.275 - 0.0314 Vv = 0.244 m’
HAE TM-200 150.000 m
L= 147.500 = 147500 m
HEWTHEK (GmEAZLICY) ) = 150.000 m
EILE ® 200 50.000 m
[= 45.500 = 45.500 m
HEE (GmEf7IzE) b)) = 50.000 m
Fward
Ufiewrgkk] (L) AHLE ¢ 200
T e ks
L1= 133.100 + 14.400 = 147500 m
[HeHE] (L2) 5L ¢ 200
Es EHTE
6.500 X 7 = 45.500 m
s12= 45.500 m
HEmA S-40 (35 35.99 m°
V= 147.500 X 0.244 = 35.99 m®

FILELR

Vi o i




Al RO it E K #E
HEFH [EX=gliss 7 1A
N= (IEfLEH) = 7 1A
TFEMT 7 {#
N= = 7 &
RS Y7 4 &
N= = 4 @@
T4 VE—F T AR
BERS 7 A/VF—
......................... |
i
500 !
!
I
i
o Pk 7T 2ok I
2 !
!
I
BEEILE—| RiEfn 378.556 m°
M-30 rap st TAVE—JEE B RIAE R
V= 768.327 X 0.500 — 0.250 X 0.160 X 140.185 = 378.556 m°
=N SN




Al RO i E R # =
23 ] S I v 531.749 m®

M-30 No| B | E | n L1 | L2 | @& | Wik IKFE
(m) A m) | (m) | (m) (m?) ()
1|H=11.38m|  13.150 7.500] 7.500 | 0.600| 4.500 59.175
2|H=11.98m|  13.500 7.500] 7.500 | 0.600| 4.500 60.750
3|H=12.58m|  10.800 8.000 | 8.000 [ 0.600| 4.800 51.840
4| H=11.98m 5.400 7.500] 7.500 | 0.600| 4.500 24.300
5|H=12.58m 5.400 8.000 | 8.000 [ 0.600| 4.800 25.920
6| H=11.98m 5.400 7.500] 7.500 | 0.600| 4.500 24.300
7|H=11.38m|  10.800 7.500] 7.500 | 0.600| 4.500 48.600
8|H=10.78m|  12.729 7.000] 7.000 | 0.600] 4.200 53.462
9]H=10.18m 8.255 8.000 | 8.000 [ 0.600| 4.800 39.624
10| H=9.58m 14.251 4.500 | 4.500 | 0.600| 2.700 38.478
11] H=8.98m 8.100 4.500 | 4.500 | 0.600| 2.700 21.870
12| H=8.38m 2.700 4.500 | 4.500 | 0.600| 2.700 7.290
13| H=7.78m 2.700 4.500 | 4.500 | 0.600| 2.700 7.290
14] H=7.18m 2.700 4.500 | 4.500 | 0.600| 2.700 7.290
15| H=6.58m 2.700 4.500 | 4.500 | 0.600| 2.700 7.290
16| H=5.98m 5.400 4.500 | 4.500 | 0.600| 2.700 14.580
17| H=4.78m 2.700 4.500 | 4.500 | 0.600| 2.700 7.290
18] H=4.18m 2.700 4.000 | 4.000 | 0.600| 2.400 6.480
19] H=3.58m 2.700 4.000 | 4.000 | 0.600| 2.400 6.480
20[ H=2.98m 2.700 4.000 | 4.000 | 0.600| 2.400 6.480
21| H=1.78m 2.700 4.000 | 4.000 | 0.600| 2.400 6.480
22| H=1.18m 2.700 4.000 | 4.000 | 0.600| 2.400 6.480
& it 140.185 531.749

[FHe=]

WimfE = (L1 +L2) XxXH /2

& #

= Wi X REER

X H kT Iy NEE




§4. 6— 154 TET

4—1. HEHRER

& Al A Al I - Tk B # = i =

T -EET
BEfEAt (a7 —h %)) t=140mm m? 515.177
R (AR > ) 4.0t X 80 m | 1756.120 SS400 HEEHAYF{)
R (AR > ) 4.0t X 60 m | 6246.700 SM490A HighAvFff
RN M12X 40 N 2742 \FREEX Sy 8.8,8.0
K H Hupt 20t X 85 X 600 % 461 NI T L—h
FEKBAROHS 4X300XL m 670.0
b L—k 6.0 115X 500 K 40
B R 4 FL PL-250X250%X3.2 [=1.20m = A 0=90°
S 4 B PL-250X250X3.2 1=0.60m A 0=90°
FoH—FRAk MI12%90 gk 22 | 44 S fit
YL ' e 302

IS AT T CHf
iR ' m 66.549
2 Y —F 24-8-25BB m® 56.899
e ' | 111.326
H ikt t=20mm m’ 5.985 FAXAL
BLas 7y —h 18-8-25BB m® 7.853
¥Lar oy — Mg ' m? 6.773
e 'RC-40 m® 53.040 | 2Ty r—T
FEH AT L 50500 X 1000 H 67
2 Y — R U A 110 X300 X 1000 K 67
B DI3 SD345 | ke 3607.0

o)) —hL W=300mm

F A2 2 ) —Fh 24-8-25BB m’ 14.840
B P ' m? 98.050
H ikt t=20mm m’ 2.899 TFAXAL
ST TSN m o
B 5 DI3 SD345 ke = 1039.400

HpET
K 66.549
2 Y —F 18-8-25BB m’ 10.902
B P ' m? 34.360
Z=UEkAS D13 SD295 kg 74.2

R HEAK L
A7 L2 — B M-30 | 254.927 RIEEFEE
PekT T NE M-30 m’ 192.366 RigiiA




4—2. iR T ERMYE

Al b i E K 8=
B m M 515.177 m?
avyy—ksSxL|  t=140mm No. o= m?/# e [
1 A4 3.240 X 18 58.320 m>
2 Ab 3.240 X 6 19.440 p?
3 A6 3.240 X 33 106.920 m?
4 AT 3.240 X 10 32.400 ?
5 A8 3.240 X 42 136.080 mp?
10 B8-1.20 3.240 X 5 16.200 mp?
18P U2-0.58P TUA—fE 1.566 X 6 9.396 m?
19P U3-0.58P TUA—EfT 1.566 X 4 6.264 m?
21P U4-1.18P TUA—fft 3.186 X 7 22.302 m’
22P U5-1.18P T H—fft 3.186 X 1 3.186 m?
23P U6-1.18P T A—ft 3.186 X 3 9.558 m*
24P U7-1.18P T H—fft 3.186 X 1 3.186 m?
33 B4-0.60 1.620 X 5 8.100 m?
87P UBCLS8-1.18-2.67P TUA—fhfE 3.151 X 1 3.151 m?
102 B5-0.60 1.620 X 6 9.720 m?
103 B9-1.20 3.240 X 6 19.440 p?
105 EA2-1.20 0.840 X 8 6.720 m?
107 EB2-1.20 0.840 X 1 0.840 ?
108 EU2-1.18 0.826 X 1 0.826 m?
B S AR %
143 CL4-1.65 1.980 X 6 11.880 m?
144 CL6-1.65 1.980 X 3 5.940 m?
145 BCL4-0.60-1.65 0.990 X 1 0.990 m?
146P UCL2-0.58-1.65P T A—fhft 0.957 X 1 0.957 m®
178 CR4-1.95 2.340 X 3 7.020
181P UCR2-0.58-1.95P TUA—fhfE 1131 X 1 1.131 m?
196 CR5-1.95 2.340 X 1 2.340 1?
197 CR6-1.95 2.340 X 5 11.700 m?
198 BCR4-0.60-1.95 1.170 % 1 1.170 m?
YneXS= 1864 515.177 p?
fEERA(RAM)977 4.0t 80 1756.12 m
$S400 2Ny 7 RE (m) ANy THEFERF (n) EX E&
[L= 9.00m] ( 6.16 + 3.00 ) X 4 = 36.64 m
[ L= 9.50m] ( 6.16 + 3.50 ) X 178 = 1719.48 m
L1 = 1756.12 m
M (AMYT)| 4.0t X60 6246.70 m
SM490A FEZ (m) AR T HEFPER (m) EX EEge
[L= 5.00m] ( 5.00 ) X 36 = 180.00 m
[L= 5.50m] ( 5.50 ) X 180 = 990.00 m
[L= 6.00m] ( 6.00 ) X 192 = 1152.00 m
[L= 6.50m] ( 6.50 ) X 87 = 565.50 m
[L= 7.00m] ( 7.00 ) X 156 = 1092.00 m
[L= 7.50m] ( 7.50 ) X 62 = 465.00 m
[L=8.00m] ( 8.00 ) X 56 = 448.00 m
[L=8.50m] ( 850 ) X 62 = 527.00 m
[L=9.00m] ( 6.15 + 3.00 ) X 44 = 402.60 m
[L=9.50m] ( 6.15 + 3.50 ) X 44 = 424.60 m
L2 =  6246.70 m




Al b i E K 8=
RILEFyb M12 X 40 2742 A&
& T ES
A B 1061 X = 2122 K
AR B 270 X = 540 A
By MAEBY AN v 7 8] 40 X = 80 A
T = 2742 K
JKEB A |20t X 85X600 461 &
AN 7—h &7 58
N EVIE 1800=W 141 X = 423 &
NAMIE 1200 =W < 1800 10 X = 20 #%&
NRMIE W=T00(Ea—F—#T) 9 X = 18 #k
Sn = 461
FEKBEEDAT | 4X300XL 670.0 m
[$n1E 1]
BE & &R
H=1.18m X 1 = 1.18 m
H=2.38m X 2 = 4.76 m
H=3.58m X 2 = 7.16 m
H=4.78m X 2 = 9.56 m
H=5.98m X 2 = 11.96 m
H=7.18m X 2 = 14.36 m
H=8.38m X 2 = 16.76 m
H=9.58m X 2 = 19.16 m
H=10.18m X 3 = 30.54 m
H=10.78m X 3 = 32.34 m
H=11.98m X 5 = 59.90 m
[/k3EH 1]
vy & A
L=0.70m X 9 = 6.30 m
L=1.65m X 10 = 16.50 m
L=1.95m X 10 = 19.50 m
L=2.70m X 131 = 353.70 m
L = 603.68 m
MO LXTAR0% ZEVL ., 10mBEALIZE) LS5,
603.68 x 1.1 670.00 m
HEybFL—k]6.0X 115X 500 40
HHBIARY 7 B = 40 #
iR EREE &4 B | PL-250X 250X 3.2
$S400 L=1.20m  (90° ) 9 A 9 A
L=0.60m  (90° ) 2 K 2 K
Xn = 11 K
FTA—F72h—| MI12X90 22 b
T HT 4 AL
SRR EASL 11 X 2 - 22 tyh
ORNIEY 302 {&
A VAT ELE-
REV s 151 X 2 = 302 f&

MR SR, a—F = SRLE RS,




4—3. I [HEEM T

| B i E R ¥ =
YR AT
CHi
i £ 66.549 m
av9)—k | 24-8-25BB 56.899 m®
EiA I 111.326 m?
B 4t TFALAR 5.985 m’
gLavs)—k| 18-8-25BB 7.853 m®
HLaVHY— R 6.773 m®
HE#pa |750v—5 53.040 m®
FAMZFO—)L 50 X500 67 £
WH-hevy BT A 10 X 300 67 £
£ h SD345 D13 3607.0 kg




| B i E R ¥ =
[ Wr i T2k ]
| 500 ., 1100 100(_
‘ ‘ LR = 66.549 m
- B = 20 mm
- S H#uEAT = T T
= / X J jovy
v sy—k gl g
L 000)
\%i@x%uﬂ \ Bz 2y—
50 1180 400 500
W I
0.830 X 0.500 + 0.400 X 1.100 = 0.855 2
E E 66.549 m
a9 )—k | 24-8-25BB 56.899 m?
LTy LR
V = 0.855 X 66.549 = 56.899 m?
Ei I <A 111.326 p?
LTy [ESTBlR
FEEH AL = 0.855 X 1 = 0.855 m?
AT il 2
IS A2 = (. 0.830 + 0.430 + 0.400 )X  66.549 = 110.471 p?
SA = 111.326 m?
B th4f t=20mm 5.985 m?
TIARLZAR Ty H &P
A = 085 X 7 = 5.985 m?
t#gLary)—k| 18-8-25BB 7.853 m?
[ty & LR
V = 0.100 X 1.180 X 66.549 = 7.853 m?
gLavyy— R 6.773 m?
[ty YLamg @ik
B 0.100 x 1.180 x 1 = 0.118 mp?
WlLav @ LR
B E 0.100 X 66.549 = 6.655 m?
A = 6.773 m?
EBRa |79y v—9 53.040 p*
BjLavig &
Al = 1.180 X 0.400
, Al A2
= 0.472 2
A2 =( 0.900 + 0.400 )X 0.500 / 2
= 0.325 2
A =( 0.472 + 0.325 )X 66.549 = 53.040 m?




i H % i E R o=
#m2FO0—L|  50X500 67 ¥
L = 66549 m Im¥40 1k BRIl E — 67
avyy—k 10X 300 67 ¥
EVCRAI LA L = 66549 m Im¥40 1k BRI E — 67
E53:0] SD345 D13 = 54.2 k& X 66.549 m = 3,607.0 kg 3,607.0 kg
A T T3 A




4—4. FRHRAVY)—FI

Al b it E R =
TEHIVY)-LT
(B2AR)
av9)—k | 24-8-25BB 14.840 m?
CiL I R B S R 98.050 m?
B #hAf t=20mm 2.899 m?
B B |7orobes B
% f D13(SD345) 1039.4 kg




i | H % it E K # =
W=300mm
[S= TR
- An *IHZ
HII: Al
A AR R R
> (H1+H2) X Ln,2
[FyHRE ]
H1 H2 L
1 Al = (0460 + 0.769 ) X 2670 2 = 1.641 m?
2) A2 = (0169 + 0544 ) X 3245 2 = 1.157 m?
3) A3 = (0544 + 0.790 ) X 2155 2 = 1.437 m?
4) A4 = (0190 + 0.806 ) X 5400 2 = 2.689 m?
5) A5 = (0206 + 0371 ) X 1449 2 = 0.418 m?
6) A6 = (0371 + 0.82 ) x 3951 2 = 2.357 m?
7) A7 = (0222 + 0.838 ) X 5400 2 = 2.862 m’
8) A8 = (0238 + 0.854 ) X 5400 S 2 = 2.948 m?
9) A9 = (0254 + 0870 ) X 5.400 2 = 3.035 m?
100 AL0 = ( 0.270 4+ 0.886 ) X 5.400 / 2 = 3.121 m?
11) All = (028 + 0731 ) x 3899 2 = 1.983 m?
120 Al2 = (0731 + 1.309 ) X 6.750 2 = 6.885 m®
13) Al3 = ( 1.309 + 1464 ) x 380 2 = 5.269 m’
14) Al4 = ( 1.464 + 1479 ) x 0700 2 = 1.030 m?
15 Al5 = ( 1.479 + 1489 ) x 1.051 2 = 1.560 m?
16) Al6 = ( 0.289 4+ 0.301 ) X 1199 2 = 0.354 m?
17 A17 = ( 0301 + 0211 ) X 2250 2 = 0.576 m*
18) Al18 = ( 0.211 + 0.147 ) x 1600 2 = 0.286 m*
199 A19 = ( 0.147 + 0.147 ) x 4830 2 = 0.710 m?
YL = 66.549 m XA = 40.318 m?
SEBH = LA/ XL = 40.318 66.549 = 0.610 m
[Wrim ik ]
300 PHERE L = 66.549 m
HHfg = 20 mm
HHufEpT = 13 &7
I
§ g
2
N
140| 160
M= 7 — N A CERY & )
S= 0.610 X 0.300 + 0.250 X 0.160 = 0.223 p?
a>91)—k | 24-8-25BB 14.840 m°
Ve T HEF
V= 0223 X 66.549 = 14.840 m°




M Al % iFE R #=E
B B 98.050 m?
T T e T ) LR
BiiSAE A1 = (0610 + 0.860 ) X  66.549 = 97.827 m?
Ve T A T
FI A2 = 0.223 x 1 = 0.223 m?
A = 98.050 m?
B th#t t=20mm 2.899 m?
TTREAR A 0.223 X 13 f&pT = 2.899 m?
B 5 TIoNE m
L = m
&% & D13 1039.4 kg
SD345 W= 84.337 X  66.549  5.40 = 1039.4 kg

[k s i e PR LA [0) ]

610

250

l S1= 610 + 472 = 1082
2 ’(_zoﬁ_,‘
o Lo
x g
Lo —
N
g gl s

© [l

A J

= Lo

T ) |

N
N s3=5210

S2=610 + 287 = 897

760

R39

e | |[booooooooooo
#% 0000000000
5.4m=472b
S 1082 mX 0995 kg/mX 19 K = 20455 kg
(52 0897 mX 0995 kg/mX 19 K = 16.958 ke
(83) 5240 m X 0.995 kg/m X 9 A = 46.924 kg
SW = 84337 ke
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4—5. HEmT

Al RO i E R #H =
HEET
TYPE-1 | TYPE-2
Tt K 42.249 24.300 66.549 m
a>49)—k | 18-8-25BB 5.070 5.832 10.902 m*
iV ] 18.340 16.020 34.360 m>
ELEAF | D13(SD295) 420 322 74.2 kg




<TYPE—12>

Al RO i E R #H =
HET
TYPE-1
E E 42.249 m
av4)—k | 18-8-25BB 5.070 m*
BB 18.340 m?
EL8F | D13(SD295) 42.0 kg




Al RO it E K # =
TYPE-1 200t X 600W
(CRIELZIN
(=N e A% 1%
600
‘ D13 L=300 @600
r// o 71— R
T T V
| :/ 200
FapfEa o) — N A
S= 0.600 X 0.200
E E 42.249 m 42.249 m
avo1)—k | 18-8-25BB 5.070 m®
— o T JE
V1 = 0.120 X 42.249 5.070 m*
) 18.340 m*
S LR
AT T 40 Al = ( 0.200 X 42.249 )X 2 16.900 m?
7 T (&0
EH A2 = 0.120 X 12 1.440 m?
AT T 40 FEEB
At SA = 16900 +  1.440 18.340 m®
ZLEAT | D13(SD295) 42.0 kg

W= 42249

0.600 x 0.300 X 0.995 X 2

42.0 kg




<TYPE—2>

Al RO i E R #H =
HET
TYPE-2
E E 24.300 m
av4)—k | 18-8-25BB 5.832 m’
BB 16.020 m?
EL8F | D13(SD295) 32.2 kg




<TYPE—2>

Al RO it E K #H =
TYPE-2 300t X 800W
((CRIEZIN
= N/A) Ll TS 1%
800
‘ D13 1.=400 @600
V/ B> 1) —
1
T T V
: :/ 300
HeffEo o) — T RS
S= 0.800 X 0.300 = 0.240 m2
nr E L = 24.300 m 24.300 m
av41)—k | 18-8-25BB 5.832 m’
— B 7 T LR
V1 = 0.240 X  24.300 = 5.832 m’
) 16.020 m*
S LR
AT T 40 Al = ( 0.300 X 24.300 )X = 14.580 m?
Vo T A (&0
EH A2 = 0.240 X = 1.440 m?
AT T 40 FEHL
At SA = 14580 4+  1.440 = 16.020 m®
EL&A7 | D13(SD295) 32.2 kg
W= 24300  0.600 X 0.400 X 0.995 X = 32.2 kg




4—6. HTHKT

Al RO it E K #E
HTFHEKT
BEEI S—| R 254.927 m®
HekISorvn| kiR 192.366 m®




Al RO it E R # =
T4V — T AR
|
= !
1
500 | !
! !
| |
! |
| !
. |
1 .
| !
| !
|
1
BERIILE—| R 254.927 m*
M-30 BEFRE  7V—JBIE LN STN A udss
V= 515177 X 0.500 — 0.250 X 0.160 X 66.549 = 254.927 m°
=N SN
HkISUrub| KR 192.366 m’
M-30 No| EEHmE | £ £ n L1 | L2 | B= | Wk ARG
(m) At m) | m) | (m) (m?) (m®)
1| H=9.58m 8.070 4.500 | 4.500 | 0.600| 2.700 21.789
2|H=10.18m 5.400 4.500 | 4.500 | 0.600| 2.700 14.580
3|H=10.78m|  10.800 4.500 | 4.500 | 0.600| 2.700 29.160
4|H=11.38m 5.400 5.000 | 5.000 | 0.600] 3.000 16.200
5|H=11.98m| 36.879 5.000 | 5.000 | 0.600] 3.000 110.637
& &t 66.549 192.366
[HEwE=]
WidifE = (L1 +12) XH /2
i F = Wrimf X iER

X H kT Iy NEE




§5. 6— 254t ET

5—1. HERER

7 Al WA K - STk Bt % = w =
fisR +BE T
BEmEM (@ 7 —R ) L) t=140mm m’ 684.581
Bk (AR ) 4.0t X80 m | 4385.000 SS400 HHEHAYFAF
Bk (AR ) 4.0t X 60 m | 2029.500 SM490A HEEH A FAf
VIR RN M12 X 40 VN 2064 |58 X4y 8.8,8.0
AR H Hpt 20t X 85 X 600 e 584 =L FL—h
175 /KBRS 4X300XL m 900.0
B #1713 v A MK 40 X 250 X600 e 33
DAL 17 396
ASZRG M L CHa
T R m 128.820
7Y —h 24-8-25BB m’ 94.296
e m? 189.541
H Higs t=20mm m? 9.516 =FAHX AL
BLarzy—p 18-8-25BB m’ 13.913
Loy — N m? 13.098
A RC-40 m’ 97.517 7Ty —Tv
FEYAAT T— )L 50 X 500X 1000 e 129
a7 —Rer DR A 10X 300 1000 # 129
7 T D13 SD345 kg 6569.8
M= T W=300mm
(B3 =0) ar7)—h 24-8-25BB m’ 24.476
R m? 161.405
H Higs t=20mm m? 5.130 =T AKX Ak
B4 T 7Iy NEY m
7 i D13 SD345 kg | 1663.900
FRET
T R m 128.820
a7 —h 18-8-25BB m® 17.301
e m? 70.589
ZEUBR D13 SD295 kg 135.1
FERESE RC-40 m’ 73.831 t=20cm
T HEK L
HEKE L) TM-200 m 150.000
PEKE (HEFLAE) ¢ 200 m 45.000
BRI S-40(3 %) m’ 35.819
[EXEEIES ] 7 fEFLE
TEFAEF TM-200 1 7
SARF vy TM-200 | 4
L7 A2 —E M-30 m’ 337.138 ‘higiet
PEkT T NB M-30 m’ 350.472 hiFiita




5—2. iRt EMMEE

Bl BB it E R B =
B M 684.581 m?
avyy—kiFL|  t=140mm No. k=2 m?/# e i)

1 A4 3.240 X 92 298.080 m?

2 A5 3.240 X 7 22.680 m?
3 A6 3.240 X 23 74.520 m’
4 A7 3.240 X 2 6.480 m?
5 A8 3.240 X 1 3.240 m?
6 B4-1.20 3.240 X 11 35.640 m?

7 B5-1.20 3.240 X 1 3.240 m?

8 B6-1.20 3.240 X 4 12.960 m?
9 B7-1.20 3.240 X 1 3.240 m?
10 B8-1.20 3.240 X 1 3.240 m?
18P U2-0.58P T A—ft 1.566 X 20 31.320 m?
21P U4-1.18P T — it 3.186 X 20 63.720 m*
26 CL4 3.204 X 3 9.612 m®
27 CL5 3.204 X 1 3.204 m?
28 CL6 3.204 X 2 6.408 m”
31 B2-0.60 1.620 x 11 17.820 m?
32 B3-0.60 1.620 X 6 9.720 m®
33 B4-0.60 1.620 x 5 8.100 m?
38 BCL8-1.20 3.204 X 1 3.204 m’
46P UCL2-0.58-2.67P T — it 1.549 X 1 1.549 m®
71P UB4-1.18P 3.186 X 2 6.372 m*
110 TA2-1.20 t=300mm 0.240 X 10 2.400 m?
111 TB1-0.60 t=300mm 0.120 X 1 0.120 m?
112 TB2-1.20 t=300mm 0.240 X 1 0.240 m?
114 TU2-1.18 t=300mm 0.236 X 2 0.472 m?

B SRS %

124 CL4-1.40 1.680 X 6 10.080 m?
125 CL5-1.40 1.680 x 1 1.680 m?
126 BCL6-1.20-1.40 1.680 X 1 1.680 m?
127P UCL2-0.58-1.40P T —fft 0.812 X 1 0.812 m?
128 CL4-1.45 1.740 X 5 8.700 m?
130 BCL2-0.60-1.45 0.870 X 1 0.870 m?
132P UCL2-0.58-1.45P Trh—kt 0.841 X 1 0.841 m?
147 CL4-1.95 2.340 X 1 2.340 m?
151 BCL4-1.20-1.95 2.340 X 1 2.340 m?
154P UCL4-1.18-1.95P T —fft 2.301 X 1 2.301 m?
162P UBCL4-1.18-2.15P TUH—fHft 2.537 X 1 2.537 m?
163 CR4-1.45 1.740 x 6 10.440 m?
164 CR5-1.45 1.740 X 1 1.740 p’
165 BCR3-0.60-1.45 0.870 X 1 0.870 m?
166P UCR2-0.58-1.45P TYUH—tt 0.841 X 1 0.841 m?
177P UBCR4-1.18-1.65P TUA—nft 1.947 X 1 1.947 m?
178 CR4-1.95 2.340 X 1 2.340 m®
180 BCR4-1.20-1.95 2.340 X 1 2.340 m?
182P UCR4-1.18-1.95P T h—ft 2301 X 1 2.301 m?®
Sn-2S= 262 K 684.581 m?




Al B i E R #M=E
HERM(AM)7  4.0tX 80 4385.00 m
$5400 ANy 7 RS (m) ANy HETFENER (m) ¥ &
[ L= 450m] ( 4.50 ) X 54 = 243.00 m
[L= 5.00m] ( 5.00 ) X 88 = 440.00 m
[L= 550m] ( 550 ) X 76 =  418.00 m
[L= 6.00m] ( 6.00 ) X 140 = 840.00 m
[L= 6.50m] ( 6.50 ) X 42 = 273.00 m
[L= 7.00m] ( 7.00 ) X 92 = 644.00 m
[L= 750m] ( 7.50 ) X 114 =  855.00 m
[ L= 8.00m] ( 8.00 ) X 84 = 672.00 m
L1 = 4385.00 m
WM (AN 4.0t X60 2029.50 m
SM490A & (m) ARy ZHETFER (m) A R
[L= 5.00m] ( 5.00 ) X 75 = 375.00 m
[L= 550m] ( 550 ) X 69 = 379.50 m
[L= 6.00m] ( 6.00 ) X 102 = 612.00 m
[L= 6.50m] ( 6.50 ) X 35 = 22750 m
[L= 7.00m] ( 7.00 ) X 49 = 343.00 m
[L= 750m] ( 7.50 ) X 7 = 52.50 m
[L= 8.00m] ( 8.00 ) X 5 = 40.00 m
L2 = 2029.50 m
RILEFub M12 X 40 2064 A
& T VN
Al FRAA LS 1032 X 2 = 2064 A
Y = 2064 A<
JKFBHhAF |20t X 85X 600 584 f&
L FL—h & e
NHIUVIE 1800 =W 176 X 3 = 528 A&
NAVIE 1200 =W < 1800 22 X 2 = 44 #
NHIUE W=200(T=—F—3) 12 X 1 = 12 &
Xn = 584 K




Al B i E R #M=E
BKBHELAT | 4X300XL 900.0 m
[¢r1E 71 ]
BE & & T
H=1.18m X 4 = 4.72 m
H=1.78m X 3 = 5.34 m
H=2.38m X 2 = 4.76 m
H=3.58m X 4 = 14.32 m
H=4.18m X 3 = 12.54 m
H=4.78m X 10 = 47.80 m
H=5.38m X 1 = 5.38 m
H=5.98m X 3 = 17.94 m
H=6.58m X 2 = 13.16 m
H=7.18m X 5 = 35.90 m
H=7.78m X 2 = 15.56 m
H=8.38m X 3 = 25.14 m
H=8.98m X 5 = 44.90 m
H=9.58m X 3 = 28.74 m
H=10.18m X 3 = 30.54 m
[ ]
2FRIVIE & T
L=0.20m X 12 = 2.40 m
L=1.40m X 8 = 11.20 m
L=1.45m X 14 = 20.30 m
L=1.95m X 4 = 7.80 m
L=2.67m X 7 = 18.69 m
L=2.70m X 165 = 445.50 m
L = 812.63 m
¥OLX AIR(10%) ZEEEL, 10mEALIZY) BT 5,
812.63 X 1.1 900.00 m
BH#ATLEvRME| 40 X 250 X 600 33 £
B ) & T BRIV
H=9.58m 1 X 16 = 16
H=10.18m 1 X 17 = 17
Sn = 33 K&
URIEY 396 &
IRV IBCE O EERL
REI Ve 198 X 2 = 396

KRS SR, A= = VB BRS




5—3. JhII[HEEM T

| B i E R # =
YR AT
CHi
I K 128.820 m
av9)—k | 24-8-25BB 94.296 m®
B # 189.541 m?
B #h#f TFALAL 9.516 m?
gLavs)—k| 18-8-25BB 13.913 m®
HLaVHY— R 13.098 m?
2R (/70— 97.517 m®
MR FO—)L 50 X500 129 ¥
-ty BTAl 10X300 129 £
533 SD345 D13

6569.8 kg




| B i E R #H =
[Wrim k]
_ 400 1100 100
‘ ‘ MR =  128.820 m
- B = 20 mm
S HHifEAT = 13 (T
- / x_] JO %4
v )k / gl
B URIEA 0
\4%%1X%D~/ \ #arsy—
50 1080 400 500
W I
0.730 X 0.400 + 0.400 X 1.100 = 0.732 2
E E 128.820 m
a9\ )—k | 24-8-25BB 94.296 1°
LTy LR
V o= 0.732 X 128.820 = 94.296 ?
EiA I 189.541 m?
LTy [ESTBlR
FEEH AL = 0.732 X 2 = 1.464 m?
AT il 2
BimE A2 = ( 0.730 + 0.330 + 0.400 )X 128.820 = 188.077 m?
A = 189.541 m?
B th4f t=20mm 9.516 m?2
TITAZARN Ty H &P
A = 0732 x 13 = 9.516 m?2
#BLaryy—r| 18-8-25BB 13.913
[ty & LR
V = 0.100 x 1.080 X 128.820 = 13.913
#HLav sy — R 13.098
[ty YLamg @ik
B 0.100 X 1.080 x 2 = 0.216 m?
¥L=av @ HER
BiiFE 0.100 X 128.820 = 12.882 m?
A = 13.098 m?
EBRa |79y v—9 97.517 m*
BjLavig &
Al = 1.080 X 0.400 A2
} Al
= 0.432 2
A2 =( 0.900 + 0.400 )X 0.500 / 2
= 0.325 2
A =( 0.432 + 0.325 )x 128.820 = 97.517 m?




i H % i E R o=
gmAFO—L| 50%500 129 #
= 128.820 m Im¥40 1k BRI E — 129 ¥
avo)—k 10X 300 129 #
EVCHT A = 128.820 m Im¥0 1k BRIl E — 129 ¥
E53:0] SD345 D13 = 51.0 k& x 128.820 m = 6569.8 kg 6,569.8 kg

B S T eI 2




5—4. ZRaVY)—+T

Al % i E R # =
TEHIVY)-LT
(B2AR)
av9)—k | 24-8-25BB 24.476 m°
BB e A 161.405 m?
B #hAf t=20mm 5.130 m?
B B |7orobes
% f D13(SD345) 1663.9 kg




i | H % it E K # =
W=300mm
[S= TR
- An *IHZ
HII: Al
A AR R
> (H1+H2) X Ln 2
[FyHRE ]
H1 H2 L
) Al = (0475 + 0.299 ) x 8717 J 2 = 3.373 m?
2) A2 = (0299 + 0.213 ) x 4233 2 = 1.084 m?
3) A3 = (0813 + 068 ) X 6338 2 = 4.747 m?
4) A4 = (068 + 0499 ) x 9231 S 2 = 5.465 m?
5 A5 = (0499 + 0.291 ) x 891l 2 = 3.520 m?
6) A6 = ( 0291 + 0.192 ) x 4303 S 2 = 1.039 m?
7 AT = (0792 + 0640 ) X 6618 S 2 = 4.738 m’
8 A8 = ( 0.640 + 0.452 ) X 6.287 2 = 3.433 m’
9 A9 = (0452 + 0.177 ) X 7455 S 2 = 2.345 m?
100 A10 = ( 0.777 + 0559 ) X 6.113 2 = 4.083 m?
1)  All = ( 0559 + 0250 ) x 7664 2 = 3.100 m?
12) Al2 = ( 0.850 + 0.719 ) x 3245 2 = 2.546 m?
13) Al13 = ( 0.719 + 0359 ) X 9.004 2 = 4.853 m?
14) Al4 = (0359 + 0201 ) x 3951 2 = 1.106 m?
15 Al5 = ( 0.801 + 0.153 ) x 16.200 2 = 7.727 m?
16) Al6 = ( 0.753 + 0213 ) x 13500 2 = 6.521 m’
17 Al7 = ( 0813 + 0559 ) X 6.349 2 = 4.355 m?
18 Al18 = ( 0.559 + 0.531 ) X 0.701 2 = 0.382 m?
SL = 128820 m XA = 64.417 m®
WHH = 2A/ XL = 64417 128.820 = 0.500 m
[WrimFEdk]
300 HER L = 128.820 m
B Hilg = 20 mm
HHufERT = 27 &7
e 3
2
2
N
140| 160
M= 7 — M A CER & S)
S= 0.500 X 0.300 + 0.250 X 0.160 = 0.190 p?
a>91)—k | 24-8-25BB 24.476 n°
Ve T HE &
V= 0.190 X 128.820 = 24.476 n°




M Al % T E R =
il I oA 161.405 m?
T T e T LR
B Al = (0500 + 0.750 ) X  128.820 = 161.025
Ve T A T
WoA2 = 0.190 x 2 = 0.380 m’
SA = 161.405 m?
B th#t t=20mm 5.130 m?
THAKAR A 0.190 X 27 fHFT = 5.130 m?
B 5 TIoNE m
L = m
&% & D13 1663.9 kg
SD345 W= 69.751 x  128.82  5.40 = 1663.9 kg

[k s i e PR LA [0) ]

500

250

l S1= 500 + 472 = 972 2= 500 + 287 = 787
2 D 200 —
2 o
x <
= - = o
9 2 § ©
A J
= Lo
! /)] s g
% — R39
N $3= 5240
5240
| ‘DDDDDDDDDDDD
140 160 Lg Doooooooon
5.4m4720
1) 0972 m X  0.995 kg/m X 19 A = 18.376 kg
(52) 0787 m X 0.995 kg/m X 19 & = 14.878 kg
(S3) 5240 m X 0.995 kg/m X 7k = 36.497 kg
SW o= 69.751 kg




ERHAVYY—hHik

(1)

A1
y
A i3 ) y
o g> ¥ S wr wr B
128820
8717 10571 9231 8911 10921 6287 7616 5952
8717 4233 6338 9231 8911 4303 6618 6287 7455 6113
176°
072.495 R 18
. H12.319 072.105 71010 IR
: R 0 71.460
071.280 - 071.272 070,901
o ol 070.680 ol
E‘k S = =} 3 ‘;@ ; | d 00 69.480
—~ T & B g - 5 i/
: e N e s R e — ¢ T S = SSET
070.100 - - - - - - - E E - - - - - - E E - - - - - - - E - - E E - - - R - - - - - -
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0]66.500 2 @ 8|8 8 B |8 8 B|8 B 8|8 @8 B|8 @ 8|3 & 0 66.500 s e|le =8 8| - -
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2670 2302700=62100 | 1650
6-20 00000 L=128820
H=8.98m H=8.38m T~ Her.18n H=6.58m H=5.98m | H=4.78m | H=4.18m H=3.58m H=2.38m _H=1.78n B B ¥ 1 |




5—5. @ T

Al A% it E R M=
HBET
TYPE-1| TYPE-2 | TYPE-3 | TYPE-4

E E 69.770 | 42257 | 12583 4210 128.820 m
av4)—k | 18-8-25BB 5.906 5.809 3.692 1.894 17.301 m’

Eil I oA 32008 | 22.003 | 11.390 5.188 70.589 m?
ELEF | D13(SD295) 69.4 420 16.7 7.0 135.1 kg
HBEM  |7ovsv—o 37.356 | 20.400 | 11.383 4.692 73.831 m®




<TYPE—1>

Al RO i E R #H =
HET
TYPE-1

E E 69.770 m
av4)—k | 18-8-25BB 5.906 m®

Eit =] 32.008 m?
EL8F | D13(SD295) 69.4 kg
HiE# |50 v—5 37.356 m?




<TYPE—1>

Al RO i E R #H =
TYPE-1 200t X400W &K 1: 0.5
((CRIEZIN
600
LYY=
400 ﬁ
140
‘ /
Moo
’ r// %ﬂ/%%
I~ 1l
\ :/ 200
/\)(‘/7\\<\\</\\ 500 FepgEo 7)) — N AE
VAVAYANY I 2 S= 0.400 X 0.200 = 0.080 m?
|%%wz
nr E L = 69.770 m 69.770 m
avo)—k | 18-8-25BB 5.906 m*
— B 7 T R
VI = 0.080 X 69.770 = 5.582 m°
Beze
BeEmE a2 7Y —MATE
[H= 0.600m] V2 = 0.084 X 1 & = 0.084 m°
[H= 1.200m] V2 = 0.240 X 1 T = 0.240 m?
V2 = 0.324 m*
¥ oL ) —MEREIL, BEEREA SR
— BEFETR
At SV o= 5.582 + 0.324 = 5.906 m*
ETRE 32.008 m’
S T
AT T 40 Al = ( 0.200 X 69.770 )X 2 = 27.908 m?
7 T T
EH A2 = 0.080 X 22 = 1.760 m?
B BEmS TP AR
[H= 0.600m] A3 = 0.660 X 1 f&Er = 0.660 m’
[H= 1.200m] A3 = 1.680 X 1 & = 1.680 m?
SA2 = 2.340 m®
¥ MR IAEIT, By =T A S IR
T T FEHL Byoat
&t SA = 27908 + 1.760 + 2.340 = 32.008 m?
ZL&A7 | D13(SD295) 69.4 kg
W= 69.770  0.600 X 0.300 X 0.995 X 2 = 69.4 kg




<TYPE—1>

Al RO it E K #H =
BERM |77 37.356 m”
— %
SRR LR
Al= 0.600 X 63.160 = 37.896 m?
B0
BEmS PERIER m
[ H= 0.600 m ] 0.300 X 1  »FF = 0.300 m
[H= 1.200 m ] 0.600 X 1  »FF = 0.600 m
SL o= 0.900 m
SRR fIdEs
A2=0.600 X  0.900 = 0.540 m®
EoNs Bezet
Al — A2 = 37.896 -  0.540 = 37.356 m?
BN E
B
€
H
u 0.5 H
200
2474 Hm | B m) | 05xH |Bemmml & o %
2147 Al 0.600 0.500 0.300 0.210 1
% 47 B| 1.200 0.800 0.600 0.600 1
2147 C| 1.800 1.100 0.900 1.170
217 D| 2.400 1.400 1.200 1.920
By
S=(B+ 020)XH /2
1) a2 7U—MKHE
BEtmiE e
AATA 0.210 X 0.40 = 0.084 3
2A7B 0.600 X 0.40 = 0.240 @3
AT C 1.170 X 0.40 = 0.468
2A7D 1.920 X 0.40 = 0.768
2) BIFemEFE
L PR R AT B SR AR
AATA 0.210 X 2 + 0.600 X 0.40 = 0.660 m?
ZATB 0.600 X 2 4+ 1.200 X 0.40 = 1.680 m?
AT C 1.170 X 2 + 1.800 X 0.40 = 3.060 m?
ZATD 1.920 X 2 + 2400 X 0.40 = 4.800 mp?




<TYPE—2>

Al RO i E R #H =

HET
TYPE-2

E E 42.257 m
av4)—k | 18-8-25BB 5.809 m’

Eit =] 22.003 m?
EL8F | D13(SD295) 42.0 kg
HiE# |50 v—5 20.400 m?




<TYPE—2>

Al RO i E R #H =
TYPE-2 200t X600W &2 1: 0.5
((CRIEZIN
800
LYY=
600
140
‘ D13 1.=300 @600
’ r// Hefas 7Y —h
=l
\ :/ 200
/\)(‘/7\\<\\</\\ 500 FepgEo 7)) — N AE
\ NN 3 S= 0.600 X 0.200 = 0.120 m?
SLRER A
E E L = 42.257 m 42.257 m
avo)—k | 18-8-25BB 5.809 m*
— s b i i JIRss
V1 = 0.120 x 42.257 = 5.071 m*
Beze
BeEmE a2 7Y —MATE
[H= 0.600m] V2 = 0.126 X 3 fapT = 0.378 m°
[H= 1.200m] V2 = 0.360 X 1 T = 0.360 m®
SV2 = 0.738 m°
¥ oL ) —MEREIL, BEEREA SR
— BEFETR
At DAVARS 5.071 + 0.738 = 5.809 m*
) 22.003 m*
S T
AT T 40 Al = ( 0.200 X 42.257 )X 2 = 16.903 m?
7 T (&0
EH A2 = 0.120 X = 0.840 m’
B BEmS TP AR
[H= 0600m] A3 = 0.780 X 3 fEEF = 2.340 m’
[H= 1.200m] A3 = 1.920 x 1 #&pr = 1.920 m?
SA2 = 4.260 m?
¥ MR IAEIT, By =T A S IR
T T FEER BE
At SA = 16903 + 0.840 +  4.260 = 22.003 m?
ZL&A7 | D13(SD295) 42.0 kg
W= 42.257  0.600 X 0.300 X 0.995 X 2 = 42.0 kg




<TYPE—2>

Al RO i E R M=
B 77— 20.400 m*
—
FERREREA HE
Al= 0.800 X 27.000 = 21.600 m®
Bt
BEmS PERIER m
[ H= 0.600 m ] 0.300 X 3 5k = 0.900 m
[ H= 1.200 m ] 0.600 X 1  4ff = 0.600 m
SL = 1.500 m
JEREREA R g3
A2=0.800 X  1.500 = 1.200 m?
2R BEE
Al — A2 = 21.600 -  1.200 = 20.400 m?
BREMEE
B
H
| gpxu
200
2474 H@m) | B m) | 0.5xH |Bemms &6 5 &
2 A7 Al 0.600 0.500 0.300 0.210 3
% 47 B| 1.200 0.800 0.600 0.600 1
2 A7 C| 1.800 1.100 0.900 1.170
2 A4 7Dl 2.400 1.400 1.200 1.920
Bt A
S=(B+ 020)XH,/ 2
1) = 7U—MEAH
Bersimfg  ALriE
HAATA 0.210 X 0.60 = 0.126 p°
ZA7B 0.600 X 0.60 = 0.360
HATC 1.170 X 0.60 = 0.702 p?
ZALTD 1.920 X 0.60 = 1.152 p?
2) BIFemEFE
S R R B A R
HATA 0.210 X 2 + 0.600 X 0.60 = 0.780 m?
ZATB 0.600 X 2 4+ 1.200 X 0.60 = 1.920 p?
ZATC 1.170 X 2 + 1.800 X 0.60 = 3.420 >
ZA7D 1.920 X 2 + 2400 X 0.60 = 5.280 mp?




<TYPE—3>

Al RO i E R #H =

HET
TYPE-3

E E 12.583 m
av4)—k | 18-8-25BB 3.692 m’

Eit =] 11.390 m?
EL8F | D13(SD295) 16.7 kg
HiE# |50 v—5 11.383 m?




<TYPE—3>

Al N iR A % E
TYPE-3  300tX800W &2 1:0.5
(CEVZN |
1000

LY=L
800

e
A

T T
\ :/ 300
/\)(‘/7\\<\\</\\ 500 FepgEo 7)) — N AE
\ SN S= 0.800 X 0.300 = 0.240 mp?
SRR
T E L = 12.583 m 12.583 m
av41)—k | 18-8-25BB 3.692 m’
— R Vo T A JER
V1 = 0.240 X  12.583 = 3.020 m®
B0
BrEmX 7)) —MAFE
[H= 0600m] V2 = 0.168 X 4 EFT = 0.672 m?
SV2 = 0.672 m®

X a7V —MEREIT, BT A S

— BeFETR
At PIAVARS 3.020 + 0.672 = 3.692 m°
eI ] 11.390 m?
TS JudEs
AT T 40 Al = ( 0300 X 12583 )x 2 = 7.550 m?
7 17 i P
EH A2 = 0.240 x 1 = 0.240 m®
B BEmS T T FE
[H= 0.600m] A3 = 0.900 X 4 fEET = 3.600 m?
SA2 = 3.600 m?
e AR RS, By EE SR
T T 0 FEER B
Gt A = 7550 4+ 0.240 +  3.600 = 11.390 m?
ZL&A7 | D13(SD295) 16.7 kg

W= 12583  0.600 X 0.400 X 0.995 X 2 = 16.7 kg




<TYPE—3>

Al RO it E K #E
B 77— 11.383 m”
— e
SRR LR
Al= 1.000 X 12.583 12.583 m?
B0
BrEmE PEREERE m
[ H= 0.600 m ] 0.300 X 4  »FfF 1.200 m
SL = 1.200 m
SRR LR
A2=1.000 X  1.200 1.200 m?
EoNs Bzt
Al — A2 = 12583 - 1.200 11.383 m?
BN E
B
H
0.5 X H
R
200
2474 Hm | B m) | 0.5xH |Bemmml & pr %
2 47 Al 0.600 0.500 0.300 0.210 4
% 47 B| 1.200 0.800 0.600 0.600
2 A7 C| 1.800 1.100 0.900 1.170
2 47 D| 2.400 1.400 1.200 1.920
B iy
S=(B+ 020)xXH /2
1) a2 7U—MKHE
BRoeinimfd  JEHEIE
AT A 0.210 X 0.80 = 0.168 m3
2T B 0.600 X 0.80 = 0.480 m3
H2ATC 1.170 X 0.80 = 0.936
H2ALTD 1.920 X 0.80 = 1.536
2) UM
Br v mfEaT I B A A
AT A 0.210 X 2 + 0.600 X 0.80 = 0.900 m?
2ATB 0.600 X 2 + 1.200 X 0.80 = 2.160 m?
AT C 1.170 X 2 + 1.800 X 0.80 = 3.780 m?2
H2ALTD 1920 X 2 4+ 2400 X 0.80 = 5.760 m2




<TYPE—4>

Al RO i E R #H =

HET
TYPE-4

E E 4.210 m
av4)—k | 18-8-25BB 1.894 m°

BB 5.188 m?
EL8F | D13(SD295) 7.0 kg
HigH  [rovvv—T 4.692 m?




<TYPE—4>

Al RO i E R #H =
TYPE-4 400t X 1000W &K 1: 0.5
((CRIEZIN
1200
LYY=
1000
140
‘ D13 1.=500 @600
’ r// Hefas 7Y —h
I~ 1l
| :/ 400
/\”’/7\\<\\</\\ 500 FepgEo 7)) — N AE
K,/\/ AN S= 1.000 X 0.400 0.400 m?
|%%wz
E E L = 4.210 m 4.210 m
av4H)—k | 18-8-25BB 1.894 m®
— o T JE
V1 = 0.400 x  4.210 = 1.684 m°
Beze
BeEmE a2 7Y —MATE
[H= 0600m] V2 = 0210 X 1 #&pr = 0.210 m*
V2 = 0.210 m*
¥ oL ) —MEREL, BEESEA SR
— i B
At SV o= 1.684 + 0.210 = 1.894 m°
) 5.188 m®
TS JudEs
AT T 40 Al = ( 0400 X 4.210 )X 2 = 3.368 m?
7 17 i P
EH A2 = 0.400 X = 0.800 m’
B BEmS TP T AR
[H= 0600m] A3 = 1.020 X 1 #&pr = 1.020 m?
SA2 = 1.020 m?
e AR RS, By EE SR
T T 0 FEER BE
At SA = 3368 + 0800 + 1.020 = 5.188 m’
ZL&A7 | D13(SD295) 7.0 kg
W= 4.210  0.600 X 0.500 X 0.995 X 2 = 7.0 kg




<TYPE—4>

Al RO it E K #E
HEH  |roovv—50 4.692 m®
— e
R iR IR
Al=  1.200 X 4.210 = 5.052 m’
B0
BrEmE PEREERE m
[ H= 0.600 m ] 0.300 X 1  »FfF = 0.300 m
SL = 0.300 m
R iR IR
A2=1.200 X  0.300 = 0.360 m’
EoNs Bzt
Al — A2 = 5.052 - 0.360 = 4692 m’
BN E
B
H

| o
>

200

2474 H@m) | B m) | 0.5xH |Bemms &6 5 &
2 A7 Al 0.600 0.500 0.300 0.210 1
% 47 B| 1.200 0.800 0.600 0.600
2 A7 C| 1.800 1.100 0.900 1.170
2 A4 7Dl 2.400 1.400 1.200 1.920
Bt A
S=(B+ 020)xH,/2

1) a7V —MEHE
Boeipmat AL

ZATA 0.210 x 1.00 = 0.210 p°
ZATB 0.600 X 1.00 = 0.600 m°
ZATC 1.170 X 1.00 = 1.170 p’
ZATD 1.920 X 1.00 = 1.920 1’

2) TR
BEf AR m BeE R R mi

ZATA 0.210 X 2 + 0.600 X 1.00 = 1.020 p?
ZATB 0.600 X 2 + 1.200 X 1.00 = 2.400 p?
ZA7°C 1.170 X 2 + 1.800 X 1.00 = 4.140 mp®
ZATD 1920 X 2 4+ 2.400 X 1.00 = 6.240 mp?




5—6. #hTHEKT

Al RO it E K #E
HTFHEKT

BEHE TM-200 150.000 m
mIE ¢ 200 45.000 m
®ma 35.819 m®
EFH X7 s 7 |
TFE#TF TM-200 7 A
ARy TM-200 4
BE@mILE—| R 337.138 m’

BRI ki

350.472 m?




Al RO it E K #E
HFEImY VR
700 HEKE
\Q/ / -
S
Lo
1 PR T. (AL -EILE - PiKk~<vbh) L = 1.000 m
2 W
{C 070 + 0.40)x 0.50 / 2 }x 1.00 = 0.275
0.20 X 020 X 3.14 / 4 = 0.0314 - -%&OHEHE
0.275 - 0.0314 Vv = 0.244 m’
HAE TM-200 150.000 m
= 146.800 = 146.800 m
HEMTHE K (GmEAZLICY) ) = 150.000 m
mILE ¢ 200 45.000 m
[= 44.500 = 44.500 m
HEE (GmEfTIzE) b)) = 45.000 m
Fward
[fewrgx] LD HFLE ¢ 200
T e ks
L1= 129400 + 17.400 = 146.800 m
[HeHE] (L2) 5L ¢ 200
£ TR
6.000 X 2 = 12.000 m
6.500 X 5 = 32.500 m
$12 = 44.500 m
HEmA S-40 (35 35.819 m’
V= 146.800 X 0.244 35.819 m®
FILFER b
WEFH EET 7 1#
N= (EFLEH) 7 #
TTFET 7 #
N= 7 1A
AR F vy 4 {#
N= = 4 1[3]




Al RO i E R # =
T AN — TR AR
BEFS 7 AV —
500
=
Nej
R Y SR
BEEmIILE—| R 337.138 m°
M-30 BT A TANI—JiE & o BIAR LR
V= 684.581 X 0.500 — 0.250 X 0.160 X 128.820 = 337.138 m®
G RIA R
BkISorvh| R 350.472 m®
M-30 No| BEmis | #£ K | n L1 | L2 | B | Wrimfd GNi
(m) At m) | (m) | (m) (m®) (m°)
1| H=1.18m 2.150 4.000 | 4.000 [ 0.600 [ 2.400 5.160
2| H=2.98m 2.700 4.000 | 4.000 | 0.600 [ 2.400 6.480
3| H=4.18m 2.700 4.500 | 4.500 | 0.600 [ 2.700 7.290
4| H=4.78m 21.600 4.500 | 4.500 | 0.600 [ 2.700 58.320
5| H=5.38m 2.700 4.500 | 4.500 | 0.600 [ 2.700 7.290
6| H=5.98m 2.700 4.500 | 4.500 [ 0.600 [ 2.700 7.290
7| H=7.18m 4.483 4.500 | 4.500 | 0.600 [ 2.700 12.104
8| H=7.78m 5.400 4.500 | 4.500 | 0.600 [ 2.700 14.580
9| H=8.38m 2.700 4.500 | 4.500 | 0.600 [ 2.700 7.290
10| H=8.98m 2.700 4.500 | 4.500 | 0.600 [ 2.700 7.290
11| H=9.58m 1.500 4.500 | 4.500 | 0.600 [ 2.700 4.050
12| H=10.18m 6.610 7.500 | 7.500 [ 0.600 | 4.500 29.745
13| H=10.18m 4.150 4.500 | 4.500 | 0.600 [ 2.700 11.205
14| H=8.98m 8.377 4.500 | 4.500 | 0.600 [ 2.700 22.618
15| H=8.38m 5.400 4.500 | 4.500 | 0.600 [ 2.700 14.580
16| H=7.18m 5.400 4.500 | 4.500 | 0.600 [ 2.700 14.580
17| H=6.58m 5.400 4.500 | 4.500 | 0.600 [ 2.700 14.580
18| H=5.98m 5.400 4.500 | 4.500 | 0.600 [ 2.700 14.580
19| H=4.78m 5.400 4.500 | 4.500 | 0.600 [ 2.700 14.580
20| H=4.18m 5.400 4.500 | 4.500 | 0.600 [ 2.700 14.580
21| H=3.58m 5.400 4.000 | 4.000 | 0.600 [ 2.400 12.960
22| H=2.38m 5.400 4.000 | 4.000 | 0.600 [ 2.400 12.960
23| H=1.78m 8.100 4.000 | 4.000 | 0.600 [ 2.400 19.440
24| H=1.18m 7.050 4.000 | 4.000 | 0.600 [ 2.400 16.920
& Bt 128.820 350.472
[FHE=]

Wrmds = (L1 +1L2) XH /2
i F = Wil X itk
N H KT Ty NBIE




§6. 75 LET

6—1. MEKFK
' Al wo Al B - Tk By & = m =

Ao L BE T
BEM A (2 7)— R/ p L) t=140mm m® 166.387
isaA (AR > 7)) 4.0t X80 m | 1122.000 SS400 HEEHAvFAF
A (AR ) 4.0t X 60 m 80.000 SMA490A HEFH A f+f
VI N AN M12 X 40 %N 452 |FREEX 7 8.8,8.0
K B HikS 20t X 85X 600 758 131 |27 7L —k
BB 4X300XL m . 210.0
H HiH 7L % % AR 40X 250 X 600 e 17
SIS ' o 82

e y)—h L W=300mm

(B 7 =) ar7)—h 24-8-25BB m’ 11.092
T s | S 73.490
H ks t=20mm m’ 2.532 I AKX A}
T TS NE m
B D13 SD345 kg 704.800

FRET
iE R | m | 52.567
ar7)—h 18-8-25BB m? 5.294
A | 25127
2= 8k D13 SD295 kg 52.3
SR 'RC-40 Cm® | 32.490 t=20cm

T HEK L
PR (H L) TM-200 m 55.000
PR (L) 6200 " m 15.000
ORI AT S-40(3%) m’ 13.030
T W 2 ML
TFHkF TM-200 1l 2
BRx v “TM-200 Cm 2
YH7ANE—fE M-30 m® 81.091 Kigi#ea
Yok7 50 4o 1@ M-30 | 133.636 HiFRLA




6—2. R LTEMMHBE

Bl BB it E R B =
B @ M 166.387 m®
avyy—r%| t=140mm No. k=2 m?/ K% # )i
1 A4 3.240 X 18 58.320 m’
6 B4-1.20 3.240 X 4 12.960 m®
7 B5-1.20 3.240 X 1 3.240 m?
18P U2-0.58P T —ift 1.566 X 6 9.396 m®
21P U4-1.18P T A—ftE 3.186 X 7 22.302 m?
26 CL4 3.204 X 2 6.408 m®
31 B2-0.60 1.620 X 6 9.720 m?
32 B3-0.60 1.620 x 2 3.240 m?
35 BCL5-1.20 3.204 X 1 3.204 m’
49P UCL4-1.18-2.67P T — it 3161 X 1 3.151 m?
71P UB4-1.18P 3.186 X 3 9.558 m?
105 EA2-1.20 0.840 X 3 2.520 m?
106 EB1-0.60 0.420 X 1 0.420 m®
108 EU2-1.18 0.826 X 1 0.826 m?
RS PA %
147 CL4-1.95 2.340 X 3 7.020 m?
151 BCL4-1.20-1.95 2.340 X 1 2.340 m?
152 BCL5-1.20-1.95 2.340 X 1 2.340 m?
153P UCL2-0.58-1.95P TrA—mft 1131 X 2 2.262 m?
155 CL4-2.00 2.400 X 1 2.400 m?
158 BCL4-1.20-2.00 2.400 X 1 2.400 m®
161P UCL4-1.18-2.00P T A — it 2.360 X 1 2.360 m?
SneXs= 66 £  166.387 m®
THERM(AM)7)]  4.0tX 80 1122.00 m
$5400 ANy ZEE (m) ANy HETRERER (m) K Ege
[ L= 450m] ( 450 ) X 50 = 225.00 m
[ L= 5.00m] ( 5.00 ) X 36 = 180.00 m
[L= 550m] ( 550 ) X 54 = 297.00 m
[ L= 6.00m] ( 6.00 ) X 70 = 420.00 m
L1 = 1122.00 m
MRy 4.0t X60 80.00 m
SM490A & (m) ARy ZHETFER (m) A R
[L= 5.00m] ( 5.00 ) X 16 = 80.00 m
L2 = 80.00 m




Al B i E R #M=E
RILEFub M12 X 40 452 A
& EN
AT AT 226 X 2 = 452 A
y = 452 K
JKFEB At |20t X 85X600 131 #
L FL—h & 5
NEMIE 1800 =W 41 3 = 123 #
NAME W=T00(E=—)—#F) 4 2 = 8
Xn = 131 ¥
FBKFERSAT | 4X300XL 210.0 m
[#rE7m]
BE & (BB
H=1.18m X 3 = 3.54 m
H=1.78m X 3 = 5.34 m
H=2.38m X 2 = 4.76 m
H=2.98m X 1 = 2.98 m
H=3.58m X 2 = 7.16 m
H=4.18m X 2 = 8.36 m
H=4.78m X 6 = 28.68 m
H=5.38m X 3 = 16.14 m
[ ]
IRRIVAE &30
L=0.70m X 4 = 2.80 m
L=1.95m X 5 = 9.75 m
L=2.00m X 2 = 4.00 m
L=2.67Tm X 3 = 8.01 m
L=2.70m X 31 = 83.70 m
YL = 185.22 m
O L X AZR(10%) ZEVEEL, 10mEALIZY] B 5,
185.22 x 1.1 210.00 m
BATL % vAME| 40 X 250 X 600 17 4%
BEE (E0 TS A SR
H=4.78m 1 X 8 = 8 &
H=5.38m 1 X 9 = 9
Xn = 17 ¥
CRILEY 82
ZRRVIKS OB %L
SFKE 41 X 2 = 82 A

MR/ SR T—F = RV E RS,




6—3. £a 9)—+I

Al b it E R =
TEHIVY)-LT
(B2AR)
av9)—k | 24-8-25BB 11.092 m?
CiL I R B S R 73.490 m?
B #hAf t=20mm 2.532 m?
B B |7orobes
% f D13(SD345) 704.8 kg




Al b i E R #q =
W=300mm
[z TIR]
An | H2
H11: Al
=NV N
X (H1+H2) X Ln, 2
[SE#HE )
H1 H2 L
1 Al = (0817 + 0.240 ) x 12.047 / 2 = 6.367 m’
2) A2 = (0840 + 0517 ) X 5.807 2 = 3.940 m?
3) A3 = (0517 + 0.336 ) X 2313/ 2 = 0.986 m’
4) A = (0936 + 0777 ) X 2.031 /2 = 1.740 m?
5) A5 = (0777 + 0.308 ) X 3.369 2 = 1.828 m?
6) A6 = (0908 + 0.157 ) X 5.400 2 = 2.876 m?
7) A7 = (0757 + 0381 ) x 2700 2 = 1.536 m?
8) A8 = (0981 + 0437 ) X 3911 / 2 = 2.773 m?
9) A9 = (0437 + 0280 ) X 148 2 = 0.534 m?
10) A10 = ( 0.880 + 0551 ) X 3.127 2 = 2.237 m?
1) All = ( 0551 + 0331 ) X 2273 2 = 1.002 m?
12) A12 = (0931 + 0.145 ) x 8100 2 = 4.358 m?
S = 52567 m XA = 30.177 m®
SE¥H = LA/ XL = 30177 52.567 = 0.570 m
[WrE k]
300 IR L = 52.567 m
HHilg = 20 mm
B = 12 &7
S
LO)| o
2
2
[aN]
140| 160
a7 — i AE G EX)
S= 0.570 X 0.300 + 0.250 X 0.160 = 0.211 2
a9 )—k | 24-8-25BB 11.092 m?
o i i FEF:
V= 0.211 X 52.567 = 11.092




M Al % iFE R #=E
B B 73.490 m?
AT ) T ) LR
A Al = (0570 + 0.820 ) X  52.567 = 73.068 m?
i T T
FI A2 = 0.211 x 2 = 0.422 m?
SA = 73.490 m?
B #th4f t=20mm 2.532 m?
THAXAR A 0.211 X 12 fHpT = 2.532 m?
B 5 TIoNE m
L = m
&% D13 704.8 kg
SD345 W= 72398 X 52567  5.40 = 704.8 kg
[ &5 Wi 2RO D ]
| S1= 570 + 472 = 1042 S2= 570 + 287 = 857
(=) < o
S ©
Lo (=)
N o N
® 3 § &~
A J
1 B N
- = 2
% — R39
N $3= 5240
5240

ooooobooooooo

140 160 Lk 0000000000
11
5.4m¥% 7=V
(S1) 1.042 m X 0.995 kg/m X 19 & = 19.699 kg
(S2) 0.857 m X 0.995 kg/m X 19 & = 16.202 kg
(S3) 5.240 m X  0.995 kg/m X 7R = 36.497 kg
SW = 72.398 kg




ZTHAVD)—FTEE

o o 2%
RS fy/ ‘M o ‘V
52668
11793 6061 4344 15380 4616 10474
12047 5807 2313 2031 3369 5400 2700 3911 1489 2273 8100
154
LN
061.097
060.280 1160.534 060107
I~ T [159.857
—
[{e]
DL=60.000 e S S— R =N 058.48)
TN - [ . T T P SN Ols7.717
~ H 5 057.p31
™ £ I SN B S B SN B [2) gl?\ 01 56.080
[158.500 e, B - - - 1- -~ 1- -[——1- -[-———7°- °:
d
157,300 28 - - . . P T
\ \Y bl 8 a a a a a a a a - - - - - - - - - - - - - - - - - - - - - - -
[155.500
56700 000 @200 0154.900 000 @200
0ooo 1950 2690 2793 2020 43114
1950 202700-5400 _ gdp 2000 gp 1050 Jod 2670 1482700=37800
nooooo 86 50 7000000 L=52567
oooooog He=1.78m| H=2.98m | H=4.78m | H=5.38m | H=4.78m H=4.18m | H=3.58m | hH=2.08m | H=2.38m H=1.78m H=1.18m

[156.215
X9



6—4. E@T

Al RO i E R #H =
HEET
TYPE-1 | TYPE-2

E E 37.040 | 15527 52.567 m
a>49)—k | 18-8-25BB 3.431 1.863 5.294 m®

Ei oA 18.196 6.931 25.127 m?
ELEAF | D13(SD295) 36.9 15.4 52.3 kg
HEH  |roovv—50 21.684 | 10.806 32.490 m?




<TYPE—1>

Al BB i E R B =
HEBET
TYPE-1
E E 37.040 m
av4)—k | 18-8-25BB 3.431 m?
B g 18.196 m?
=L/ D13(SD295) 36.9 kg
BB |r7vvr—5v 21.684 m?
TYPE-1 200t X400W A 1: 0.5
[Wrmiik]
600
ENZO YAt Y
400
140
T A st
S ) —p
200
200 EeffEzr 77U — MR
N 2 S= 0.400 X 0.200 = 0.080 2
SRR
T K L = 37.040 m 37.040 m
av41)—k | 18-8-25BB 3.431 m?
BT [T LR
V1 = 0.080 X  37.040 = 2.963 m?
B
BrEmS =LY —MEFL
[H= 1.800 m] V2 = 0.468 X 1 &7 = 0.468 m?
V2 o= 0.468 m’
¥ oLy — MR, SRS IR
AR BEEIR
&t SV o= 2.963 + 0.468 = 3.431 m?
R 18.196 m?
ma RS
RIS A Al = ( 0.200 X 37.040 )x 2 = 14.816 m?
I i i I
FEEB A2 = 0.080 X 4 = 0.320 m?
BEERR BeEms RUPTIRS
[H= 1.800m] A3 = 3.060 X 1 &7 = 3.060 m?
A2 = 3.060 m?
¥ BUPMIREI Y, ST EE S R
AT B S B
it »A = 14816 + 0.320 + 3.060 = 18.196 m?




Al BB it E R B E
=L/ D13(SD295) 36.9 kg
W= 37.040  0.600 X 0.300 X 0.995 X 2 = 36.9 kg
HEi#Es |r90vv—50 21.684 m?
—
AT jISES
Al= 0.600 X 37.040 = 22.224 m?
B
BEmE PSR m
[ H= 1.800 m ] 0.900 X 1  »fF = 0.900 m
SL = 0.900 m
AR jISES
A2= 0600 X  0.900 = 0.540 m?
2R B
Al — A2 = 22224 - 0540 = 21.684 m?
B SR
B
| E—
H
L_J 0.9XH
|
200
AAZ7 4] H @ | B m) | 0.5XH |Bseimmi| 45 71 3K
247 Al 0.600 0.500 0.300 0.210
2 A4 7 B| 1.200 0.800 0.600 0.600
247 C| 1.800 1.100 0.900 1.170 1
% A4 7 D] 2.400 1.400 1.200 1.920
B R
S=(B+ 020)XH,/2
1) =7 —MMERE
BoERmRE AR
BATA 0.210 X 0.40 = 0.084 1}
ZATB 0.600 X 0.40 = 0.240
BATC 1.170 X 0.40 = 0.468 °
HZATD 1.920 X 0.40 = 0.768 .}
2) TR
B EtRimfEnTy I B e A R
BATA 0.210 X 2 4+ 0.600 X 0.40 = 0.660 2
ZATB 0.600 X 2 4+ 1.200 X 0.40 = 1.680 2
HATC 1.170 X 2 + 1.800 X 0.40 = 3.060 2
HA7D 1.920 X 2 4+ 2400 X 0.40 = 4.800 p?




<TYPE—2>

Al RO i E R #H =

HET
TYPE-2

E E 15.527 m
av4)—k | 18-8-25BB 1.863 m®

Eit =] 6.931 m?
EL8F | D13(SD295) 15.4 kg
HiE# |50 v—5 10.806 m®

TYPE-2 200t X600W
(G2
800

a7V —h SR
600

T

= @600
Ffz Y —F
200
200 HeffEo o) — N RS
3 S= 0.600 X 0.200 = 0.120 m2
|%@ﬂz
T K L = 15.527 m 15.527 m
avo1)—k | 18-8-25BB 1.863 m°
— B 7 17 LR
V1 = 0.120 X  15.527 = 1.863 m®
TR 6.931 m’
S LR
AT T 40 Al = ( 0.200 X 15527 )x 2 = 6.211 m’
Vo T A i P
EH A2 = 0.120 X 6 = 0.720 m®
AT 1A 40 FEH
At SA = 6211 4+ 0.720 = 6.931 m®
EL&A7 | D13(SD295) 15.4 kg
W= 15527  0.600 X 0.300 X 0.995 X 2 = 15.4 kg
BB |75y v—T 10.806 m®
—
A A LR

Al= 0.800 X 13.507 = 10.806 m?




6—5. HhTHEKT

Al RO it E K #H =
HTFHEKT

BEHE TM-200 55.000 m
mIE ¢ 200 15.000 m
®ma 13.030 m®
MEFH H T 2 @
THEEF TM-200 2 A
ARy TM-200 2 A
BUEI S| KR 81.091 m’

BRI ki

133.636 m®




6—5. HhTHEKT

Al RO it E K #E
S Ak oy
700 HEAKE
\O‘/ / -
S
Lo
I #FHEKR T (LA - Hik<obh) L = 1.000
2 W
{C 070 + 0.40)x 0.50 / 2 }x 1.00 = 0.275
0.20 X 020 X 3.14 / 4 = 0.0314 - -%&OHHE
0.275 - 0.0314 Vv = 0.244
HAE TM-200 55.000 m
L= 53.400 = 53.400
HEWTHEK (GmEfTIzE) b)) = 55.000
EILE ¢ 200 15.000 m
[= 11.500 = 11.500
HEE (GmEfTIzE) b)) = 15.000
Fward
Ufiewrgkk] (L) ALE ¢ 200
T e ks
1= 49.800 +  3.600 = 53.400
[HeHE] (L2) #FLE ¢ 200
E& E T
5.500 X 1 = 5.500 m
6.000 X 1 = 6.000 m
s12= 11.500 m
HEmA S-40(3%5) 13.03 m®
V= 53.400 X 0.244 = 13.03 m°
FILELE b




6—5. HhTHEKT

Al RO i E R #H =
WHEFH BT 2 &
N= (sl A) = 2 &
TFERkET 2 A
N= = 2 &
HARF vy 2 &
N= = 2 &
T4 VE—F TR
BEFFI T AV S —
......................... |
i
500 :
|
|
|
|
|
|
i
BEEmIILE—| R 81.091 m?®
M-30 R T A TAME—JE & o BIAR LR
V= 166.387 X 0.500 — 0.250 X 0.160 X 52.567 = 81.091 m®
B RIA R
BkISorvh|  RIERRA 133.636 m®
M-30 No| BEmis | #£ K | n L1 | L2 | & | WrimfE GNi
(m) At m) | (m) | (m) (m®) (m°)
1| H=1.78m 1.950 4.000 | 4.000 [ 0.600 [ 2.400 4.680
2| H=2.98m 2.700 4.000 | 4.000 | 0.600 | 2.400 6.480
3] H=4.78m 2.793 4.500 | 4.500 | 0.600 [ 2.700 7.541
4| H=5.38m 2.000 5.500 | 5.500 | 0.600] 3.300 6.600
5| H=5.38m 2.654 4.500 | 4.500 | 0.600 [ 2.700 7.166
6| H=4.78m 8.070 4.500 | 4.500 | 0.600 [ 2.700 21.789
7| H=4.18m 5.400 4.500 | 4.500 | 0.600 [ 2.700 14.580
8| H=3.58m 5.400 4.000 | 4.000 | 0.600 [ 2.400 12.960
9| H=2.98m 2.700 4.000 | 4.000 | 0.600 [ 2.400 6.480
10| H=2.38m 5.400 4.000 | 4.000 | 0.600 [ 2.400 12.960
11| H=1.78m 5.400 4.000 [ 4.000 [ 0.600| 2.400 12.960
12| H=1.18m 8.100 4.000 | 4.000 | 0.600 [ 2.400 19.440
& F 52.567 133.636
[FiE=]
WrmfE = (L1 +L2) XxXH /2
R = MrmAg X ER

N H KT Ty NBIE




7—1. fEE T EERE T

(1)5—18 Rt It+SHES

A

OB i B #H =
T+ 2 T
Bt TR+ 442514 m®
BEMRa

13.57 m*




oAl b3 ) i B # =
B+ fHgR e 1 4425.14 m3
+ =
No T PREEE | WrERE | PR S FE [ OE
(m) (m%) (m% (m%)
1 =2—5—(90° ) - 57.940
2 NO.21 6.800] 57.940] 57.940] 393.992
3 NO.22 20.000| 66.240] 62.090| 1241.800
4 NO.23 20.000| 64.110] 65.175| 1303.500
5 NO.24 20.109] 39.530] 51.820| 1042.048
6] =—75—(90° )| 11.227] 39.530] 39.530| 443.803
& gt 78.136 4495.14
SCITIASIT, SR EE AR 2 18,
ERRE 13.57 m’
+ &
No It PREE | Wy - AVARD I
(m) (m%) (m% (m%
1| JEREIE600 19.386]  0.700 13.570
& & 19.386 13.57

ST AL, BB HARILXZ ],




(2)528 WHMTBET T E1EE

oA O iF E AR B =
+ E I
Bt T+ 5342.61 m®




Al S it ' R H 2
Bt Hifindueg 1 5342.61 m®
+ &
No AU PR | WA | PmERE| 2 BE |6 O
(m) (m®) (m®) (m?)
1 LA - 38.570
2 NO.21 6.600| 38.570|  38.570| 254.562
3 NO.22 20.000[ 34.460| 36.515 730.300
4 NO.23 20.000[ 34.500]  34.480] 689.600
5 NO.24 20.089 29.210]  31.855| 639.935
6 NO.25 20.187 61.830]  45.520 918.912
7 NO.26 20.216 58.380]  60.105| 1215.083
8 SP.1 9.416| 38.740|  48.560| 457.241
9 NO.27 10.782] 19.270|  29.005| 312.732
10 HE AL 12.895[  0.000 9.635| 124.243
& &f 140.185 5342.61
KT AL, S ARILX S R,




(3)6-15 st ET T+ EHESE
oA RO it ' AR #H =
+ & T
Bt TRt 3987.11 m®
BfRG 37.89 m’




oAl b3 ) i B % =
B+ fHgR e 1 3987.11 m3
+ #
No 1 Y PERE | WrAE | EmkE| Sz B[ O
(m) (m%) (m% (m%)
1| =—75—(90° ) — 99.990
2 NO.21 6.800] 99.990] 99.990| 679.932
3 NO.22 20.000| 77.180| 88.585| 1771.700
4 NO.23 20.000] 43.740|  60.460| 1209.200
5 HE 14.919]  0.000] 21.870| 326.279
& & 61.719 3987.11
WAL, BCRE AR 2,
BiRRE 37.89 m®
+ #
No oA PERE | W AR - RYARY I [
(m) (m?) (m?) (m%)
1| FEREIE600 24.270[  0.700 16.989
2| EEphiEs00 24.300f  0.860 20.898
& & 48.570 37.89

ST AL, oS AR ILXZ ],




(4)6—25 et RET T EHESE
Bl % it 75 A #H 2
+ & T
Bt i £ 3814.14 m”
BfRG 10.68 m®




oAl b3 ) i B # =
B+ fHgR e 1 3814.14 m3
+ =
No T PREEE | WrERE | PR S FE [ OE
(m) (m%) (m% (m%)
1 s - 6.020
2 NO.21 0.701]  6.020 6.020 4.220
3 NO.22 20.000| 14.620] 10.320| 206.400
4 NO.23 20.000] 26.840] 20.730| 414.600
5 NO.24 19.913] 49.990| 38.415| 764.958
6 NO.25 19.855| 54.180| 52.085| 1034.148
7 NO.26 19.832] 25.080| 39.630| 785.942
8 SP.1 9.231] 26.010] 25.545] 235.806
9 NO.27 10.571] 23.910] 24.960| 263.852
10 s 8.717]  0.000] 11.955] 104.212
& &t 128.820 3814.14
SCITIAEIT . SR EE HARILX 2 18,
ERRE 10.68 m’
+ &
No It PREE | WA - NORE | o=
(m) (m%) (m% (m%
1| JEREIE600 15.257|  0.700 10.680
& & 15.257 10.68

ST AL, BB AR ILXZ ],




15 Rt ETTEHES

@ 5 A o = B B
T E T
CE T S 67181




oAl b3 ) i B % =
B+ fHgR e 1 671.81 m3
+ &
No Vi /Y PREE | Wrmfd | PRmEE| S B[ OE
(m) (m%) (m% (m%)
1 T - 0.000
2 NO.23 15.090| 10.260 5.130]  77.412
3 NO.24 19.724| 26.250] 18.255| 360.062
4 H 17.854]  0.000] 13.125| 234.334
& 52.668 671.81
TR T, BB R PRI R,
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NO.24+13.701 [

O oo d

0000 00ooQ Il 00D O OO0 |DO0| DOO0O 0000
60000 0 1
000000 24-8-25BB O 243.5
O 0 02 407.5
O O SD345,D13 kg 5,154
O O SD345,D25 kg 2,904
O O SD345,D29 kg 8,057
oooooood 18-5-40BB O 9.3
O O 0O O 02 4.1
O 0 O 0 m?
O 0 O Om
O O 0O O Ol 6.1
O 0 03 257.5
O O O ) s 238.1
0 0 ooo@oo) | o? 783.6 | N2 0T
O 0 O RC-40 0 238.1
O 0 O 02 93.1




gooood

oo oo oo i o

D000 0DO000 00| 0000 0Doo
000 | 24-8-25BB m® 62.3
doooooop 800 O m® 110.0
0oo O m® 71.2
00O O m® 243.5
Qoo0ooooo 18-5-40BB , t=100mm | m’ 93.1
O m® 9.3
000  DOoo m 84.8
Q000 00O m 290.5
00O m 32.2
00O m 407.5
D000000ood m 4.1
00O 0 m*
00O Om
D29 kg 8,057 |SD345
Q000 D25 kg 2,904 |00
D13 kg 5,154 |00
00| kg 16,115




00000000000 (24-8-258B)
1) 00O

1 1/2 x (13.880 + 13.088) x 6.60 x 0.70

2) 000
11 1/2 x (13.880 + 13.784) x 0.80 x 5.00
12 1/2 x (13.088 + 13.184) x 0.80 x 5.00

13 1/2 x 0.40 x 0.40 x (13.768 + 13.200)

3) 000

21 1/2 x (13.880 + 13.088) x 6.60 x 0.80

OO0O00O0o0obOoooo (18-5-40BB , t=100mm)

A

1/2 x (14.080 + 13.288) x 6.80

% 1/2 x (14.080 + 13.288) x 6.80 x 0.10

62.

30

Vi

62.

55.

52.

30

33

54

.16

2 V2

110.

71.

03

20

2 V3

71.

20

2V

243.

93.

53

05

.31
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gob obodg obod 86° 32" 12" = 1:1.001830 , 93° 24" 16"

1) 00O
1 0.70 x (13.880 + 13.088)
2 0.70 x (6.60 x 1.001830 + 6.60 x 1.001768)

3 1/2 x (13.736 + 13.232) x 4.20

2) 000
11 5.00 x (13.880 + 13.088)
12 5.00 x (0.80 x 1.001830 + 0.80 x 1.001768) x 2
13 4.60 x (13.784 + 13.184)
14 0.566 x 1/2 x (13.784 + 13.736)
15 0.566 x 1/2 x (13.184 + 13.232)
16 1/2 x 0.40 x 0.40 x 1.001830 x 2

17 1/2 x 0.40 x 0.40 x 1.001768 x 2

3) 000

21 0.80 x (13.880 + 13.088)

22 0.80 x (6.60 x 1.001830 + 6.60 x 1.001768)

goodooooooooooo

go0 86° 32" 12" = 1:1.001830 , 93° 24" 16"

a 0.10 x (14.080 + 13.288)

b 0.10 x (6.80 x 1.001830 + 6.80 x 1.001768)

= 1:1.001768L

18.

56.

88

.26

63

> Al

84.

134.

16.

124.

77

84

03

05

.79

.48

.16

.16

2 A2

290.

21.

10.

51

57

58

2 A3

32.

15

2 A

407.

= 1:1.001768L

43

.74

.36

2 A

.10
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